GUIDE CYLINDER

mindman

| JapuiAa 19edwon) | JapuIlka plepuelg ‘

1apuIa Uiy

[@ Fast delivery

Our goal is to achieve 3-day lead time, if
there is stock of component set. For more
information, please go to our MINDMAN
website (www.mindman.com.tw) and click
on the “Component Set Inventory” button.

MCG*
MCGA

MCGS

MCGB

MCGI

MCGJ
MGT*

MCGD

MCG3

MCDA

MCDB
MCDJ

4-1

TWIN-GUIDE CYLINDER

Rear Flange Coupling .........ccccceeeennes
B12~@32.coeeeee e
TRIPLE-GUIDE CYLINDER

P63, @80
DUAL-ROD CYLINDER

Japuij£a aping

9|qeL

‘1uewdgnb3&mg|!xn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCG* series Stop ! Lift / Push

M

TWIN-GUIDE CYLINDER

.“ -lul:ﬁ ; '%qﬂr o L-Lift cylinder
Y & ‘," .

Tough type of stopping a large-load

work carrier at a fixed point, and for the
straggle of a number of work carriers, etc.

Several uses

mindman

e S-Stopper cylinder Takes very high lateral loadings as such can
stop very wide and heavy objects.

Large bearing area enables heavy off-set loads
to be applied.

Long strokes available with extremely rigid
guidance, precise movement of load is
possible.

e P-Pusher cylinder

Special design which stands the large
one-sided load. Lifts the work carrier at a
fixed point not changing the posture.

Long strokes available, the highly precise
pushing work transfers and places a work
carrier and changes the direction.

Multi-Purpose

Arranges in line

Can move loads into a parallel
position from different start
points.

Draws in

Can move high loads
consistently on the inward
stroke of the cylinder.

Corrects misalignment | | Cuts sheets
Repositions uneven loads. Can be use as the power

source for cutting sheets on a
shearing machine.

M mindman

4-2



MCGA series stop / Lift

TWIN-GUIDE CYLINDER

!-'. = T
LG l 1 =
el J_AJ-g! L -
» ‘I“_.Mi_bsm
~ |
) -_‘11 d‘fo‘!‘*' ‘
"
-

Order example
MCGA—-03—-—20—-50—-G

| 1

MODEL TUBE I.D. STROKE
—
PORT THREAD
PURPOSE / TYPE OF BEARING Blank: Re thread
Code| Purpose / Type of bearing G: G thread

03 | Stop/ Slide bush

13 | Lift/ Linear bearing (*)

53 | Lift/ Slide bush

* The type is not available as a stopper.

M mindman

NPT: NPT thread

mindman

Features

e Strong cylinder capable of high loads, used extensively for stopping
work carriers in both the vertical and horizontal position.

e Large diameter guide rods enable cylinder to take high off-set loads.

e Can be used as 90 degree pusher on large conveyor systems.

e Magnetic as standard.

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

Specification
=
=.
N
79 | =
PN =——p 4
Model (Stop type view) E{f @{* & &
({.‘? | Qis i B -
& @ » b
[ep)
Acting type Double acting g_
Tube 1.D. 20 | 3240 | 5063 80 s
Port size Rc1/8 Re1/4 | Rc3/8 =
Medium Air <
Operating perssure range 0.1~1 MPa
Proof pressure 1.5 MPa
Lubrication Not required
Cushion With rubber cushion pad §
Ambient temperature -5~+60°C (No freezing) ®
Available speed range 50~500 mm/sec
Sensor switch RCB (Please refer to page 8-10) I
o
o
(=1
Table for standard stroke 2
Series variety Tube Stroke (mm) %
(Bearing type) I.D. 30 50 75 100 =
220 K|
232

MCGA-03 240

(Slide bush) | #50

263

280

220

232

MCGA-13 240

(Linear bearing) | @50

263

280

220

232

MCGA-53 240

(Slide bush) | g50

awdinb3 Aeixny | Japuijfo saddoyg

263

280

e The other stroke lengths that fall in the range between our standard strokes
will be manufacture by the next large standard stroke with additional spacer.
ex: The 40mm stroke length will be made by 50mm stroke with additional
spacer.

e Stroke out of specification is also available.

o Please consult us if stroke exceed 100mm.

4-3




MCGA-03 Stop type 220~280

TWIN-GUIDE CYLINDER mindman
Capacity graph Stop capacity Stop capacity
Capacity for the use as a stopper MCGA-03...620,032-30st MCGA-03...040,650,063,580-50st
400
= 1500
v g 2
= 300 = A\ —os0
i % 232 -%1000
\ 2 2 050NN b
‘ g 8 500 A N
. ¥ 100 = \\ £ NSO
= N 5 = 240 S——
T
& Caution 0 10 20 30 40 0 10 20 30 40
- . . i Work carrier speed (m/min) Work carrier speed (m/min)
Linear bearing type is not available
as a stopper.
Normal lateral load Normal lateral load
MCGA-03...620,032-30st MCGA-03...940,550,263,280-50st
1000 p, 8000 T
7 7000 ! A
280 /
z )4 = 6000 A o3
o 22 >// T 5000 A )
2 500 2 4000 A
@® k|
8 020 3000 )2 7
S > 3 2000 T
y L~ /( =
//, 1 1000 = e
0 02 04 06 08 1 0O 02 04 06 08 1
Working pressure (MPa) Working pressure (MPa)
v
| } =
E
- - - -
i Coefficients for conversion
|
| L MCGA series| 220 | 232 | @40 | 850 | @63 | @80
i W=W"'x—
( l 48 55 80 85 90 98
j/ W: The maximum weight of the work carrier in the above graph

for the stopper's.

For the use of attaching a plate to the
link bar, choose a bore size referring to
the right formula.

M mindman 4-4



MCGA-13/53 Lift type 20-080

TWIN-GUIDE CYLINDER mindman

Capacity graph Linear bearing
MCGA-13...620,032-30~100st

Capacity for the use as a lifter
MCGA-13...40,550,263,080-50~100st

Allowable eccentricity load for the use

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

as a lifter (at supply pressure 0.5MPa) 1 I
g 500 o
= .
®©
L(mm) 2 at
- 2 1000 s
‘ 2 AN AN =
8 N 250 =.
Q X 040 (=]
ﬁ o 500 X ot 2
e 220 |—— =
‘ re) A [ [=%
i g =L =)
| o
| <
0 100 200 300
| Eccentric throw (mm)
4 o
=5
Show the dynamic allowable value at Slide bush Slide bush &
L(mm) eccentricity from the center of the 2
gf,ide)rod, y MCGA-53...520,032-30st MCGA-53...520,232-50~100st =
MCGA-53...240,250,063,280-50st MCGA-53...940,850,063,280-75~100st %
g 1500 g 1500
3 ! 3 \
© ®©
o | 280 Ke] \ 280
£ 1000} [ 063 2 1000 063
AU - o =
8 Y 240 8 AVAV 240 =
5 N g N ®
o 500K A o0 o 500 N 020
QO Q N\
2 S i<} e — —
< <
0 100 200 300 0 100 200 300 =
Eccentric throw (mm) Eccentric throw (mm) a
]
w
()
=
H Installation of sensor switch (For Stop / Lift / Push type) =
Sensor switch: RCB .
(2]
1 | -
=
=)
Il Il Il D
|| T T -
I T T T o
‘ =
| =
‘ [ XK
N
| o c
| Rl i -
=
| | | =
[1] I 5
=
™
e
=.
Cod: =
TubZ fD. A B c D & /] CBD
20 (395 (245|775 | 22 Ojf%ﬁ%ﬁ El
m

32 59.5 | 30.5 | 8 22

|
40 |64 |31 |5 22 < 3@ ! @D
50 |[715[335|25 | 22 ﬁ (\fff
22 :

63 885 (405 | 1.5
80 103 | 43 0 22

M mindman 4-5




MCGA stop ! Lift 820~280

TWIN-GUIDE CYLINDER

Capacity table
Allowable lateral load

w

¢
N

Shows the dynamic allowable value,
when actuating the cylinder with lateral
load W at the guide rods' top (vertical
load against the guide rods).

Allowable rotating torque

i

Shows the dynamic allowable value,
when actuating the cylinder with a
rotating torque T at the guide rods' top.

Anti-roll accuracy

[o-o=e 4

e The values are the deflection angle
against the piston rod.

e Exclusive factor of the guide rods'
deflection.

M mindman

mindman
Unit: N
. Stroke (mm)
Tube I.D. Bearing type
30 50 75 100
220 Slide bush 58.84 88.26 73.55 58.84
Linear bearing 78.45 63.74 49.03 39.23
32 Slide bush 17.7 1471 17.7 98.07
2
Linear bearing 156.9 127.5 98.07 78.45
240 Slide bush - 1471 166.7 137.3
Linear bearing = 225.6 186.3 156.9
50 Slide bush - 1471 176.5 1471
e Linear bearing = 2452 196.1 166.7
63 Slide bush - 215.7 274.6 215.7
e Linear bearing = = 323.6 284.4
80 Slide bush - 245.2 294.2 245.2
2
Linear bearing - - 588.4 539.4
Unit: N.m
. Stroke (mm)
Tube I.D. Bearing type
30 50 75 100
220 Slide bush 0.686 0.981 0.785 0.686
Linear bearing 0.883 0.686 0.539 0.441
32 Slide bush 2.059 2.55 2.059 1.765
2
Linear bearing 4.609 2.157 1.765 1.471
240 Slide bush - 3.628 3.727 3.236
Linear bearing - 4.609 3.825 3.236
50 Slide bush - 4.315 5.099 4.511
2
Linear bearing = 6.865 5.786 4.903
263 Slide bush - 6.276 8.041 6.276
Linear bearing = = 9.512 8.336
80 Slide bush - 10.79 13.73 12.75
e Linear bearing = = 27.46 24.52
. Anti-roll accuracy
Tube I.D. Bearing type 0
Slide bush +0.08°
220 - -
Linear bearing +0.03°
Slide bush +0.07°
232 - -
Linear bearing +0.03°
Slide bush +0.06°
240 - -
Linear bearing +0.03°
Slide bush +0.05°
250 - -
Linear bearing +0.02°
Slide bush +0.05°
263 - -
Linear bearing +0.02°
Slide bush +0.04°
280 - -
Linear bearing +0.02°




MCGA Inside structure & Parts list

TWIN-GUIDE CYLINDER

799955
1/

r—/

1

T

]

A=
ddaosbowns

[N
N

@
o

Order example of

Material repair kits
No Part name Material Qy I(ngzlsrlzﬁ 'I;uge Repair kits
1 |Body Aluminum alloy 1 220 PS-MCGA-20
2 | Coverring NBR 2 [ 232 PS-MCGA-32
3 |Rod cover Aluminum alloy 1 240 PS-MCGA-40
4 | Rod bush Bearing alloy 1 250 PS-MCGA-50
5 |Rod packing NBR 1 o 263 PS-MCGA-63
6 | Rod cushion NBR 1 [ 280 PS-MCGA-80
7 | Piston rod Carbon steel 1
8 [Piston Aluminum alloy 1
9 |Piston for magnet ring Aluminum alloy 1
10 | Magnet ring Magnet material 1
11 | Piston packing NBR 1 o
12 | Piston gasket NBR 1 o
13 | Bolt for piston Carbon steel 1
14 | Head cushion NBR 1 L
15 | End cover Aluminum alloy 1
16 [ Snap ring Spring steel 2
17 | Plate Aluminum alloy 1
18 | Guide rod Carbon steel 2
19 | Guide rod bush Bearing alloy 4
20 | Bolt for piston rod Carbon steel 1
21 | Bolt for guide rod Carbon steel 2
22 | Spacer Aluminum alloy 1
23 | O-ring NBR 1
M mindman 4-7

mindman

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MC GA Dimensions 220~280

TWIN-GUIDE CYLINDER

Stop type

Lift type

mindman

MCGA-03 8 MCGA-53/13
el
:
s
g
‘ A 3
F | “« G 5
T slot for hexagon head bolt ‘ ‘ 5
| w
ﬂ& =
5 | @ |
| U
4H ‘ ]
K 2x4-M | | ‘ |
N1 N2 N1 | T
U Q1 0 ‘ : | 1
| L <\_> I Il L ; I : 1 l
\ ° | | = [ Nt i \ 2
| el le—1—4= S ‘ © RIEE
| T T | ‘ =S4
| | T ] ] ‘ ‘ ‘ 2
| ‘ ‘ S | 1. = | | <
| ! © | 205 i \ : -
| | S+ \ NS o o
\ \ 3 w g ‘ :
| | ! 7 g [ T2r [ ~
Al el ] 2 - ‘
! Nt T ‘ ? 5 . 4D
|2-R £ -
| l ﬁ .§ c |
Q <l
=\
o
F
T slot for hexagon head bolt
MCGA-03
e |A| B [B1]C|c1 D E |E1| F | G |G1 H K |K1| L |L1 ] N1 |N2|P(P1|QQ1| R [U| Z |Z1
20 | 75| 34 | 32|63 |20 |M5x0.8x15dp | 45| — M4 | 32| 16 |M5x0.8x10dp | 75|15| 54 [36 |M4x07x8dp |[22.5(20( 4| 6|e12|e10|Reti8] 25 |11 |10
32 [106| 51.5| 45|90 |30 [M8x1.25x20dp | 63| — M6 | 40|18 [M6x1.0x12dp [100(20| 66.5(41.5|M5%0.8x10dp (32 [25| 5| 9 [s20[a16|Rc1/8[ 30 [12 |12
40 [128] 59 | 52[112|36 |M8x1.25x20dp | 80| — [M6 | 50|20 [M6x1.0x12dp [125[25| 81 |51 |M5x0.8x10dp [40 |30| 5|14 [925|016|Rc1/8| 35 16 [16.5
50 [150] 69 | 62[132|45 [M10x1.5x25dp [100|20 M8 | 63|25 |M8x1.25x16dp[140(30| 87 [52 |M6x1.0x12dp [37.5(50| 616 [230[20|Rc1/4] 40 [16 [17.5
63 |180| 87 | 78|156(53 [M12x1.75x30dp|118| 25 [M10| 80| 40 [M10x1.5%20dp [175|35[100 |60 |M8x1.25x16dp [47.5(60| 9|16 |35|020|Rct/4] 60 [17.5 |21
80 [243[110 [100[212|71 [M16x2.0x40dp |160| 30 [M12{106| 56 |M10x1.5%20dp [224 | 40 [110.5|62.5|M10x1.5%20dp [60 |80 |10 |18 |#45|025|Rc3i8| 75 [22 [19.5
L2 dimensions list
MCGA-53/13 MCGA-03/53 MCGA-13
TquZdIeD G |G1| K Q u Code Stroke (mm Code Stroke (mm
20 63| 32| 75|012 (28) 45 Tube 1.D.\| 30 50 ( 75 | 100 Tube 1D.\| 30 50 | 75 | 100
32 | 90| 50]106|020 (213)] 70 20 o |17 [17 |17 20 |18 |18 |18 |18
40 | 12| 63]128 | 025 (016)| 80 32 0 |185[185|185 32 [29.5(29.5(295[29.5
50 |[132] 71]150] 230 (220) | 100 40 0|0 J22 |22 40 |30 |30 |30 |30
63 |150| 85|175| 035 (825) | 110 50 0|0 |18 |18 50 | — |39 |39 |39
80 [212]125]236] 045 (935) | 150 63 | 20 |20 |20 |20 63 | 1 |1 [70 |70
(): For MCGA-13 type 80 0| 0o [385]|385 80 [19.5(19.5[19.5(89.5

ﬂWMindman 4-8



MCGA series Push type

TWIN-GUIDE CYLINDER

- - LS -
-~ -
-_— 'h\_ b P, -
{ »
|
r 3

Order example
MCGA —23—-20—-50—-G

| 0

MODEL TUBE I.D. STROKE
——
PURPOSE / TYPE OF BEARING PORIRESEFAD
Blank: Rc thread
Code Purpose / Type of bearing G: G thread

NPT: NPT thread
23 | Push/ Linear bearing

63 | Push/ Slide bush

M mindman

mindman

Features

e Long stroke type of the anti-turn accuracy, impoved by integrating
the guides and cylinder.

e Linear bearing type available for high accuracy in the high speed
work.

e On the link bar at the top, Many thread holeas for mounting
attachments are provided for easy mounting.

e Lift type of long stroke is available by replacing the link bar with
table plate.

e Magnetic as standard.

Specification

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

©
Model | g2 ¢ | I—/—— h t
o
(for 23/63 type 280
stroke over 100mm)
Acting type Double acting
Tube 1.D. (mm) 20 32 40 50 63 80
Port size (Rc) 1/8 3/8 3/8
Medium Air
Operating perssure range 0.1~1 MPa
Proof pressure 1.5 MPa

Lubrication Not required

Cushion With rubber cushion pad

Ambient temperature -5~+60°C (No freezing)

Available speed range 50~500 mm/sec

Sensor switch RCB (Please refer to page 8-10)

[]: For MCGA-23 type, stroke 30~100mm.

Table for standard stroke

Series variety | Tube Stroke (mm)
(Bearing type) | 1.D. | 30 | 50 | 75 | 100 | 200 | 300 | 350 | 400 | 500 | 600 | 700
220
232
MCQA-23 240
(Linear
bearing) 250
363
280
220
232
MCGA-63 | 240
(Slide bush) | @50
263
280

e Stroke out of specification is also available, please consult us.
e Tube I.D. 20~263 the max stroke is 350mm.

4-9

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGA-23/63 Push type 020~080

TWIN-GUIDE CYLINDER mindman

Capacity graph

Capacity for the use as a pusher MCGA-23 / MCGA-63, deflection and

allowable top load.

W
l v e In the actual operation, load at the top
should be below the allowable top load.
-
I e S :%; e Y—Deflection
f o W—Allowable top load
MCGA-23...220 MCGA-23...932 MCGA-23...040
5 2.5 I 2.5
. R —73505t .
E 4 300st E 2 E 2 350st
E E \BOOSt E /\ ‘
5 3 5 1.5 \ 5 1.5 ‘3005[
© © ©
o 2 o 1 200s 3 1
< / )\2003t = / /\ % / 200st
o 1 / ot O 05 o= 100st | 0o 05 ot
{I— S|
- j ___>h L
0 10 20 30 40 50 0 20 40 60 80 100 0 50 100 150 200 250
Top load (N) Top load (N) Top load (N)
MCGA-23...950 MCGA-23...263 MCGA-23...280
1 0.4 —— 5 T
ABSOst‘ 47005t
€ 0.8 350st T 03 / T 4 |
E 00 E 300st E / s00st
st
é 0.6 / / _§ 0.2 / / \ é 3 500st
Q 04 200st—— o 200st Q 2 400st
g // | uij / / é’ )\ 3§OSt
8 0.2 | — 100st 8 0.1 / 100st+ 8 1 300st
P —— | 1 ‘ | — ] 200st +00st
=1 1
0 100 200 300 400 500 0 50 150 250 350 0 50 100 150 200 250
Top load (N) Top load (N) Top load (N)
MCGA-63...220 MCGA-63...232 MCGA-63...240
8 ‘ T 25 T
7 00st . 5 3508t ™| _ 3s0st
E o© /\ E 4 300st ] g 2 / !
S| 300st
c 5 / c 4 q % c 15
S 4 S % S \
8 3 200st g o g 1 oon
% 2 / D 11 //> 200st @ —1
o ] o 1= Q 05
0 20 40 60 80 0 20 40 60 80 0 50 100 150 200 250
Top load (N) Top load (N) Top load (N)
MCGA-63...250 MCGA-63...263 MCGA-63...280
25 1 2.5 ‘
700st
g 2 g 350st ’g‘ 2 /l/\ i
c 15 c >\‘30051 c 15 6‘0051
-_8 350st _g 05 / _g 500st
O (8] [ 8]
2 ! / 1 XOO\S‘ 2 200st 2 ! /\4(3)2(8;51
S s 200st © 2B o . T\ 300st
Q 05 = a] Dol a] o SRS v
0
0 50 100 150 200 250 0 50 150 250 350 0 100 200 300 400 500
Top load (N) Top load (N) Top load (N)

ﬁVﬂMindman 4-10



MCGA Dimensions - Push type

220~280

TWIN-GUIDE CYLINDER

MCGA-23 / MCGA-63 |

mindman

MCGA-23 / MCGA-63 ||

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

s
. For tube 1.D. 880, stroke 101~700mm |3
2 2
3 5
2 g
S o
© —
F ‘ E\ : $ ot for h g \
e : slot Tor hexagon »
T slot for hexagon head bolt \ ‘ ‘ & ! ; head bolt [
; : < |®
VT q\e} /T\ “Ig}/?} q’l,i}_ !
E”J { @ @ *m W ole - 7‘[515 <o
ﬁ/j '
4-H
2x4-D
K 2x4-M
2 e ——————
v ot Ja ® | g ds %‘} | %l s
1 @ i | i Gt : m ‘
| L ellle——j=t ‘ 1 N R
T I Nl # T 1 E NJ 1 /@ 1
MMM I o ! (] -
| \ | | i ‘ \ ‘ S
‘ | ! x ‘ | ‘ g
B ] ] ﬁa | - | | | s
! a 2 : s I ‘ | &
[ 2R I ~ | 9
| ! = ‘ i ‘
Q i 1 \ 1 i
| ‘ ‘ 2-R ‘ | 2
]S 70 AT -
o | [~ ol N1 5|2
\ i \ B ¥
I | | | I o
| | | N
o = :
MCGA-23 /| MCGA-63
Coe A | B [B1C[C1 D E|E1| F |GGt H K|Kk1| L [L1]L2 M N1|N2[P|P1| @ |a1] R |u|z|z1

20 75| 34 | 32| 63 [ 20 |M5x0.8x15dp | 45| — |M4 | 32| 16 |M5x0.8x10dp | 75[15

54 |36 [18 |M4x0.7x8dp |22.5(20 6 |28 010(Rc1/8 25|11 |10

32 |106| 51.5| 45| 90 | 30 [M8x1.25x20dp | 63| — [M6 | 40( 18 |M6x1.0x12dp [100|20

66.5|41.5[29.5|M5x0.8x10dp |32 |25 913(012)[016|Rc1/4 [1/8] [ 30 [12 (12

40 | 128 59 | 52[112|36 [M8x1.25x20dp | 80| — [M6 | 50( 20 [M6x1.0x12dp [125|25

81 [51 [30 |M5x0.8x10dp |40 |30 14 016 016|Rc1/4[1/8] [ 35|16 [16.5

50 |150| 69 | 62[132|45 [M10x1.5x25dp [100]| 20 [M8 | 63|25 |M8x1.25x16dp [140| 30

87 (52 (39 |M6x1.0x12dp |37.5|50 16 (020 920(Rc3/8[1/4] [ 40 |16 [17.5

63 |180| 87 | 78[156(53 [M12x1.75x30dp [118| 25 [M10| 80|40 |M10x1.5x20dp [175| 35

ol|lo|oa|la|s~| @
(e}

100 |60 (68 |M8x1.25x16dp|47.5|60 16 (025 020 [Rc3/8 60 |17.5|21

80 243|110 |100(212| 71 [M16x2.0x40dp [160| 30 [M12|106( 56 |M10x1.5x20dp |224| 40

110.5(62.5( * |M10x1.5x20dp |60 |80 |10 |18 235 825|Rc3/8 75122 [19.5

* With stroke 30~75mm L2=17.5, stroke 100mm L2=87.5
[ I: For MCGA-23 type, stroke 30~100mm, ( ): For MCGA-63 type.

MCGA-23 | MCGA-63 Tube I.D. 280, stroke 101~700mm

Code_ | A | B [B1| C [C1 D E|E1 F|G|G1 H K |K1

L |L1|L3 M N1|N2|P |[P1| Q |Q1 R u|z|z1

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

1uau1d!nb3me!|!xn\1| Japuika Jaddoyg | JapuIka sSajpoy |

Tube I.D.
80 [243| 110 [100[{212| 71 | M16x2.0x40dp [160| 30 [M12[106| 56 M10x1.5x20dp 224 | 40

213 | 150 | 256 |M10x1.5x20dp| 60 |80 (10 18| @35 |@25| Rc3/8 |[75|40 | —

ﬂVﬂMindman 4-11




MCGS / MCGB A\ Precautions Read before installing

M mindman

TWIN-GUIDE CYLINDER

Handling
& Caution

@ Please control the cylinder within the allowable speed
range:
If the cylinder is not using the speed control valve, it may
occur beyond the speed range of the piston. If it is used
outside the allowable speed range, it will cause cylinder
damage or reduce product life. Therefore, please install the
speed control valve and adjust the speed within the allowable
range. The product allowable speed is shown in Table 1.

@ Please note the speed control during vertical installation:

When the cylinder is used vertically, if the load rate is large,
it will cause the speed control valve to exceed the upper limit
and could cause sudden unintended acceleration which will
affect the product life. Therefore, it is recommended to use a
dual speed controller.

© The lateral load of the cylinder during the operation must
be within the allowable range:

Exceeding the allowable value will prevent the cylinder from
operating properly and affect the life of the product.

@ Do not scratch the mounting surface of the cylinder body
and end plate to avoid affecting the flatness:

If the flatness of the mounting surface is poor, the cylinder will
malfunction. The mounting surface of the cylinder body and
the end plate should have a flatness of less than 0.05 mm.

© Do not cause surface damage or impact marks on the
operating parts of the piston rod and the guide rod:

Damage to the appearance will result in damage to the seal
ring which could cause leakage or malfunction of the cylinder.

4-12

Load value (kg)

mindman
100 @63
250
240
232
10 7¢25
20
216 N
| 12
1 \\\‘\ N
\\ \\
AN AWAY
AN B WY
\ A\
0.1 \
\
\\
\
\
0.01
100 200 300 400 500

Maximum speed (mm/s)

Table 1



MCGS series o6, 210

TWIN-GUIDE CYLINDER

L4 ®
e ’ ® o A
- <)
I \,
Lpmte
g \
PY ;
. -

Order example

MCGS—6—10

T

MODEL TUBE I.D. STROKE

Cylinder weight

Unit: g
Tube Stroke (mm)
I.D. 5 10 15 20
26 29 34 39 -
210 41 49 57 65

Installation of sensor switch

Watchmakers /

screw driver

Sensor switch RDGV

Allowable rotational torque
& Non-rotating accuracy

Unit: N.m

Tube Stroke (mm) Non-rotating
1.D. 5 10 15 | 20 | accuracy 6
26 | 09|07 |06]| —
+0.15°
210 | 47 [ 3.9 | 3.3 | 2.8

AW mindman

mindman

Features

e Multi-ports as standard enabling both direction mounting.
e Non-rotating accuracy + 0.1°

e Embedding type sensors.

e The sensor cable will be in the same direction as the piping
tube if vertical type sensor switch (Angle cable) is used.

e Magnetic as standard.

Specification
Acting type Double acting
Tube I.D. (mm) 6 10
Stroke (mm) 5,10, 15 5,10, 15, 20
Port size M3x0.5
Medium Air
Max. operating perssure 0.7 MPa
Min. operating perssure 0.15 MPa
Proof pressure 1 MPa
Lubrication Not required

-5~+60°C (No freezing)
50~400 mm/sec
RDGYV (Please refer to page 8-20)

* This product is not applicable for stopper purpose.
* For precautions, please refer to page 4-12.

Ambient temperature

Available speed range

Sensor switch

Allowable lateral load

L

L —»}—147
—
i ’Z
W 7
| w ~
0 MCGS-26 |
-00 —— 260 T
< 60 = 5240 > MCGS-610 ——
= 50 P~ =220 —t
2 40 P> 8180 > .
@ ~—> . ©160 B~ 0
€ 30 ~ ~ st=5 & 140 \\ st=5
® 20 ~ st=10 & 120 < st=10
o N~ o N _
S 5100 st=15
10 st=15 " 80 st=20
0 0
0 5 10 15 25 0 5 10 15 25
Eccentric distance L (mm) Eccentric distance L (mm)
Allowable eccentric load ,
u Operating pressure
3 "| — 0.3 MPa
==== 0.5 MPa or more
L L IR N N
| } b 1
I —_
¢ 1 [ ¢ T2 ~ N
I'|‘|‘|T|‘|‘|’|‘ I‘|T|"‘ = n 010—
T l T l g N
‘ ‘ (o] N
| w LW N
| | 50.1 @6 EEEE%} —
I I @ TS
| | 3 11l
‘ ‘ |
| |
0.01 1

4-1

0.1 1
Eccentric distance L (mm)

3

| JapuiAa 19edwon) | JapuIlka plepuelg ‘

1apuIa Uiy

[ep)
=,
o
59
o
—
=
o
)
=

9|qeL

‘1uewd!nb3me!|!xn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGS Inside structure & Parts list 26, 210

TWIN-GUIDE CYLINDER mindman
Inside structure & Parts list Material
. , Repair kits
@ @ @ No.| Part name Material Qy (inclusion)
L i~ 1 | Body Aluminum alloy 1
U:ng Z 2 | Rod cover Aluminum alloy 1
= i 3 | Piston-H Aluminum alloy 1
@\ Pﬁ‘) /@ 4 | Piston-R Aluminum alloy 1
@\ I e S 5 | Piston rod Stainless steel 1
s L /@ 6 | Guide rod Carbon steel 2
7 |Plate Aluminum alloy 1
@\\ — = /® 8 | Magnet ring Magnet material 1
— | 9 | Cushion NBR 1 [ )
O 10 | Cushion NBR 1 [ )
11 | Bush Copper 2
12 | Piston seal NBR 1 [ )
13 | Rod seal NBR 1 [ ]
. . 14 | O-ring NBR 1 [ )
Order example of repair kits N sorcw Carbon stea] ]
Tube 1.D. Repair kits 16 | Screw Carbon steel 2
26 PS-MCGS-6
210 PS-MCGS-10
Dimensions
L+Stroke R
BC FC L1+Stroke 2-UN depth o MA MB+
2-9Q thru
(Mounting holes) } —
}L Joeo
< E T wl a : z Qﬁ a g 8 =
/‘J . L |
% 7 A
2-EF 5 2-M3x0.5 W %
= L \
BD FD N1 N2 2-ZA | s 4-XB depth
G TA (Mounting holes)
Tucbide. A [BC|BD|CP|CQ| D | E EF FC|FD| G [ H | L |L1|MA[MB|N1|N2
6 28 916 (20.5(15 (205 9 [M2.5x0.45thru |[4.5(3.5(95| 29 | 23 |185| 6 |3 7 |4
10 32 10 (7.5]|23 |17.5|23 11 | M3x0.5 thru 6 5 85|33 |25 |19 8 |35 7 |45
Cod:
e O|P|Q|R|S|TA| UN XB ZA
6 2 [20.5(3.3|145|6 12 | 6.2x0.5 | M3x0.5x5| @1.2
10 3 |23 (43|17 |[7.5| 15 |@8%x0.5 |M4x0.7x5( @2
M mindman 4-14



MCGS series o12~263

TWIN-GUIDE CYLINDER

mindman

rT = r:}-—]
g |.l Features

(iL.L AL e Proven track record in manufacturing precision guided cylinders.
J15

e Multi-Ports as standard enabling two direction mounting option.

-
df l

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

o S ) e Flush fitting sensors.
N e Flush fitting sensors.
P e Magnetic as standard
24119
NIE : Specification =
- =
il B
g
".'n' ,'—-‘f—'ﬂ - 2
e ”n
J Model
& "‘:3 —
- »
0= *
9 Acting type Double acting E
(=N
Tube I.D. (mm) 12,16 20,25,32,40 50,63 bl
Order example Port size M5x0.8 Rc1/8 Rc1/4 =
o
MCGS—03—-12—-50—20—-G [Medm Ar .
| _l_ _|_ _l_ Operating perssure range 0.1~1 MPa
| | | T Proof pressure 1.5 MPa
ADJUST Ambient temperature —5~+60°C (No freezing)
R TUBE LD STROKE  grroke PORT THREAD o cion With rubber cushion pad )
(for 07, 27 type)Blank: M5x%0.8 =
’ (for 812, 216) Available speed range 50~500 mm/sec @
PURPOSE / TYPE OF BEARING Blank: Rc thread Lubricati Not ired
-~ . — G- G thread ubrication ot require
oce HIPose 7 Type of bearno NPT: NPT thread | Sensor switch (*1) RCE, RCE1, RDEP

(for 20~263)

03 | Stop / Slide bush *1. RCE, RCE1, RDEP specification, please refer to page 8-12,13,18.

*2. For precautions, please refer to page 4-12.

07 | Stop/ Slide bush / Stroke adjustable

Push / Linear bearing
(Could attach a table for the use as a lifter)

23

Push / Linear bearing / Stroke adjustable
(Could attach a table for the use as a lifter)

27

Table for standard stroke Installation of sensor switch

Series variety | Tube Stroke (mm)

(Bearing type) | 1.D. | 10|20 | 2530 |40 |50 |75 |100(125[150(175|200|250(300{350(400
212
216
220
225
232"
240
250
263
212
216
220
225
232"
240
250
263

*Tube |.D. @32: 25mm for the shortest standard stroke.
* Adjustable air cushion type, please consult us.

M mindman

Sensor switch

" RCE, RCE1

Sensor switch

/ RDEP
.

Watchmakers

__ ~ screw driver

MCGS-03
MCGS-07
(Slide bush)

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |

MCGS-23
MCGS-27
(Linear bearing

4-15




MCGS Capacity 212~963

TWIN-GUIDE CYLINDER

Capacity graph

Capacity for the use as a stopper

| \%
|

|
|
4

Linear bearing type is not
available as a stopper.

Stop capacity
MCGS-03/07...30st ¢12~232

1 €
[T °

|

4

L
W—Wxé

For the use of attaching a
plate to the link bar, choose
a bore size referring to the

g300 T
2 032 formula below.
5 W: The maximum weight
‘g 200 \ of the work carrier in
E ﬂ2‘5 the above graph for
(] ' :
E 100 Ls20 the stopper's capacity.
: 216 \ \ ..
— 212 ~———
E AN I~ Coefflcu_ents for
0 10 20 30 conversion
Work carrier speed (m/min)
Tube I.D. 14
MCGS-03/07...25st 240~063
212 40
<1000 -
2 216 42
— 500
5, 400 220 42
‘© 300
E 200 225 42
Q2
E 100 232 44
° 40 72
£ 50 °
= 3 250 78
5 10 20 30 40 50 263 78

Work carrier speed (m/min)

Normal lateral load
MCGS-03/07...30st

1000
z
®
32
2 500 : P
S 025
o 020 | —"|
(] —
i} / 216
12
1 —

0 02 04 06 08 1
Working pressure (MPa)

M mindman

mindman

Lmm) Capacity for the use as a lifter
\‘—’
Allowable eccentricity load for the use as
‘ a lifter (at supply pressure 0.5 MPa)
4 Show the dynamic allowable value at
\ L(mm) eccentricity from the center of the
| guide rod.
4
Slide bush Linear bearing
MCGS-03/07 MCGS-23/27
212~32...10-50st 2912~232...10-50st
z z
o 032 e 932
3 200 8 200 B 25
g yaZl\ g \’//
=) 20 = 020
5 < o & —W b e
o 100 216 o 100 016
(] — (5] L
1) :\% 212 5} :\@ 012
Q@ Q@
g [ R\ =SS
3 0 100 200 300 3 0 100 200 300
< Eccentric throw (mm) < Eccentric throw (mm)
212~232...0ver 51st 212~232...0ver 51st
g — 232 g =2 32
ks kS
o 200 o 200
L | o025 \ L2 | 625 \
E 20 ‘2]:: 20.
100 =2 100 F222=
é 016 § 216
[0} 012 — | [} A
§ 0 100 200 300 § 0 100 200 300
< Eccentric throw (mm) < Eccentric throw (mm)
240~063...25-50st 240~063...25-50st
z 063] ‘ Z 1000
1
B '5% e g o \
= L 300 A\
o 200 O 200
5 100 5 \
El:) E]:) 100
3 3
o) 10 o) 50 N
o ° 40 N}
el el 30
© 1 g
5 10 20 30 50 100 200 8 1 235 10 20 50100 200
< Eccentric throw (mm) < Eccentric throw (mm)
240~263...0ver 51st 240~263...0ver 51st
z 063 | Z 1000 282
< 000 AR 3 ol
o JF~_ 240 o] 500 oz
S 500 7 S 388
o 300 © 200 MY
“E’ 200 -.E
8 100 2 100
(8] (8]
> s B
2 5 2 s
© 10 ©
5 10 20 30 50 100 200 5 10 20 304050 100 200
< Eccentric throw (mm) < Eccentric throw (mm)
4-16



L
Qo
=
%
. N =%
MCGS Capacity 212~¢63 E
TWIN-GUIDE CYLINDER mindman =
Unit: N o
. o
Capacity table Tube| g eaing tpe Stroke (mm) 3
I.D. 10 |20 (25|30 | 40 | 50 | 75 |100(125|150|175(200 250|300 | 350 | 400 §
Allowable lateral load 1o | Sidebush 3124 | — [19] 16| 13 37| 31| 15] 13 12| 10| 9| — | — | — =
@ Linear bearing 23|17 | — | 14| 34| 30| 23| 19| 12| 11 9] 8| 6[—| —| — =
W 216 Slide bush 50|39 | — | 32| 27| 24| 54| 45| 27| 24| 21| 19| 16| — | — | — §
* Linear bearing 36|29 — |24 | 59| 52| 40( 33| 20| 17| 15| 13| 10| — [ — | — -
320 Slide bush — | 51| — |44 | 39| 35| 54| 46| 74| 66| 59| 54| 28| 24| 21| 19 —
~—-—- k,}, Linear bearing — | 43| — | 36| 98| 87| 69| 57| 46| 40| 36| 32| 32| 27| 23| 20
225 Slide bush — | 68| — [ 59| 52| 46| 72| 61| 98| 88| 79| 72| 53| 46| 41| 37 =
Linear bearing — | 67| — | 56 [148|132]|105| 87| 70| 62| 55| 50| 42| 36| 30| 27 =4
232 Slide bush — | — [165] — | — [129]|106| 90|138|123[111|101| 88| 77| 68| 61 2
sh the d ic all bl | Linear bearing — | — [104| — | — | 74(165|138|114|100|( 90| 81| 66| 56| 48| 42 =
th;chtjat%natrr?:eccali?\ngr v(iit\/rﬁ:fe'ral 240 | Side bush — | = [203] = | = [164[182]159|142]127[190]174]150|132] 118|106 =
load W at the guide I}(I)ds' top (vertical Linear bearing — | = |13 — | — | 78]|129(106|130|114[106| 95 | 78| 67| 58| 50
. g . Slide bush — | — |296| — | — |245(273|241)|216|195(190|174|150(132|118|106
load against the guide rods). 350 - -
Linear bearing — | — [120] — | — | 83|178(148|148|129(106| 95 | 78| 67| 58| 50
263 Slide bush — | — |296| — | — |245|273|241|216|195| — | — | — | — | — | — o
Linear bearing — | — |17 — | — | 81[176[145|145]|126| — | — | — | — | — | — =
&
A
§
. Unit: N.m a2
Allowable rotating torque —— _ Stroke (mm)
Bearing type
I.D. 10 |20 (25|30 | 40 | 50 | 75 |100(125|150|175(200|250|300 (350 | 400
I 212 Slide bush 0.64/0.48| — [0.39|0.32|0.28(0.75|0.63|0.15[0.13|0.12|0.11({0.09]| — | — | —
) ‘ Linear bearing  [0.47|0.35| — [0.29(0.71|0.62|0.40(0.38|0.13]|0.11(0.09(0.08|0.07| — | — | —
- *@*{?*@ - 516 |_Side bush 1.14]0.90] — [0.74]0.63[0.55[1.23[1.04]0.31]0.27]0.24[0.22[0.18] — | — | — =
‘ I ‘ Linear bearing  [0.84/0.66] — [0.54|1.35|1.19(0.93|1.76|0.23|0.19|0.17|0.15[0.12| — | — | — %
! 220 Slide bush — |1.14| — [1.21]|1.07|0.95(1.49|1.25|2.03|1.81(1.63|1.48|0.37(0.32|0.29|0.26
T Linear bearing — [1.19] — ]0.99(2.69|2.40|1.89(1.56|1.26|1.10(0.98|0.88|0.43(0.36/0.31|0.27
225 Slide bush — |2.19| — [1.88]1.65|1.47(2.31|1.94|3.15|2.80(2.52|2.30|0.85(0.74|0.66|0.59
Shows the dynamic allowable value Linear bearing | — [2.14] — [1.79]4.74|4.22(3.36(2.78|2.25|1.98[1.76(1.59)0.68|0.57|0.49[0.42 —
when actuating the cylinder with a 232 Slide bush — | — [6.61] — [ — [5.16[4.23(3.59(5.52(4.93|4.45(4.06(1.72(1.50(1.33[1.20 -
rotating torque T at the guide rods' top Linear bearing — | — [4.17] — | — |2.95|6.60(5.52|4.56|4.02(3.59|3.24|1.29(1.09|0.94|0.82 8_
240 Slide bush — | — |7.00] — | — |5.66(6.27|5.48|4.87|4.38(5.21|4.79|4.13(3.63|3.23|2.92 §
Linear bearing — | — |5.24] — | — |4.25|7.19(6.33|7.81|7.11(2.93|2.61|2.16(1.83|1.58|1.39 2
250 Slide bush — | — [13.0] — | — |10.8[{12.0]/10.6|9.50|8.60(5.88|5.41|4.66(4.09|3.65|3.29 =
Linear bearing — | — |7.02] — | — |5.76[12.3|10.9|11.2|10.2(3.30|2.94|2.43(2.06|1.78|1.57 =
263 Slide bush - | — (147 — | — [12.1{13.5|12.0|10.7(969| — | — | — | — | — | — <
Linear bearing — | = |7.77) — | — |3.35|13.7{12.2|125|114| — | — | — | — | — | —
L
S
e
Anti-roll accuracy ) Anti-roll accuracy o
Tube I.D. Bearing type =
8 2
e 212 Slide bush +0.09° @
i | \'“"‘;W;/ Linear bearing +0.06°
16— E@é@— —Lg} 16 Slide bush +0.08° —
‘ ‘ ;7‘\ Linear bearing +0.06° E
LI Slide bush +0.08° =
220 - - 0 o
Linear bearing +0.03 =
Slide bush +0.07° m
e The values are the deflection 225 - - 5 =
. . Linear bearing +0.05 =N
angle against the piston rod. - S =]
. . Slide bush +0.07 3
o Exclusive factor of the guide 332 - - 7 @
rods' deflection Linear bearing +0.03 =1
' 240 Slide bush +0.06°
Linear bearing +0.08°
Slide bush +0.05°
250 Linear bearing +0.06°
Slide bush +0.05°
2 Linear bearing +0.06°
M mindman 4-17




MCGS-O3 Inside structure & Parts list

TWIN-GUIDE CYLINDER mindman

012~232 240~263

ponrons

%

Pnne

SN

T T

wl_,

L 0
@ il % G I
¥es Bl /@ N L/@
@ ///:/’/@ I //@
© a3 € H—
* = \\\
| [
NS ; o
|
|
|
Order example of
Material repair kits
No. | \—u0elD-_ | 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | Qy Eﬁgiglgg e Repair kits
1 | Body Aluminum alloy 1 212 PS-MCGS-12
2 |Ball Stainless steel 1 216 PS-MCGS-16
3 | Slide bush Bronze alloy | Bearing alloy | 4 220 PS-MCGS-20
4 | Rod cover Aluminum alloy 1 225 PS-MCGS-25
5 | Head cover *) Carbon steel | Aluminum alloy | 1 232 PS-MCGS-32
6 | Rod packing NBR 1 o 240 PS-MCGS-40
7 | Coverring NBR 2 [ ] 250 PS-MCGS-50
8 | Snap ring Spring steel 2 263 PS-MCGS-63
9 | Piston rod Stainless steel Carbon steel 1
10 | Piston Aluminum alloy 1 . .
11 | Magnet ring Magnet material 1 Cyllnder WEIght Unit: g
12 | Magnet holder Stainless steel Aluminum alloy | 1 Model B:nsé%g?:)gsht Sﬂ%':ss_?;"
13 | Piston packing NBR 1 ([ Tube
14 | Head cushion NBR 1 ( 1.D.
15 | Bolt SCM 1 212 21
16 | Plate Carbon steel 1 216 28
17 | Guide rod Carbon steel 2 220 45
18 | Screw SCM 2 25 63
19 | Rod bush — Bearing alloy 1 232 90
20 | Piston bolt = SCM 1 240 88
21 | Rod cushion NBR 1 o 250 140
22 | Piston gasket — NBR 1 { 263 151

* Aluminum alloy

M mindman 4-18



MCGS-07 Inside structure & Parts list

TWIN-GUIDE CYLINDER mindman
212~316 240~363
00920008 7299 BRAIPEPTY,
17 ® +
‘ i RS [ ANERSEN
Tl =1 1oy pupmmm— ]l
o N e LSl ‘
> || e & T @L | r | o
& | /. ! ! /@
| B S Q) o) ‘ ‘
| il A feg ) ‘
» N I s B | | T
h 19 E/ﬁM 58 LDy ‘ ]
—® —Hhe | .
‘ 20 —— é\ ‘ ‘ i \l\:
——® =H
| 5 — i
|
® | | o
| | L e
@) @
5
g @
Material
Tube I.D. .| Repair kits
No. " Part name 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | Q' (inclusion)
1 Body Aluminum alloy 1
2 | Ball Stainless steel =8 Order example of
3 | Slide bush Bronze alloy Bearing alloy | 4 repair kits
4 | Rod cover #1 Aluminum allo 1
- ] Tube Repair kits
5 | Rod cover #2 Aluminum alloy 1 I.D.
6 | Rod packing NBR 2 () 212 PS-MCGS-2-12
7 | Cover ring #1 NBR 1 o 216 PS-MCGS-2-16
8 | Piston rod #1 Stainless steel Carbon steel 1 220 PS-MCGS-2-20
9 | Piston rod #2 Stainless steel Carbon steel 1 225 PS-MCGS-2-25
10 | Piston Aluminum alloy 1 232 PS-MCGS-2-32
11 | Magnet ring Magnet material 1 240 PS-MCGS-2-40
12 | Magnet holder Stainless steel Aluminum alloy 1
- - 250 PS-MCGS-2-50
13 | Piston packing NBR 1 ([ J
14 | Head cushion NBR 1 ° gos PS-MCGS-2-63
15 | Bolt SCM 1
16 | Plate Carbon steel 1
17 | Guide rod Carbon steel 2
18 | Bolt SCM 2
19 | Cover ring #2 NBR 1 ([ J
20 | FBC board Carbon steel 1
21 | Rod cushion NBR 1 ([ J
22 | Gasket PU 1
23 | Adjustable nut Carbon steel 1
24 | Nut Carbon steel 1
25 | Bolt Stainless steel SCM 2
26 | Screw Bronze alloy Carbon steel (*) 2
27 | Washer PET — 2
28 | Snapring Spring steel 1 ™ erial ch o b
- * The material changes into bronze
29 | Bush — | Bearing alloy 2 alloy when the part thread is BSPF.
30 | Piston gasket NBR 1 ( } (JISPF)

M mindman

4-19

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGS-23 Inside structure & Parts list

TWIN-GUIDE CYLINDER

8

212~232

mindman

240~263

ndnvres

T

=1

s;

S

5]

I

oo}

4

&

D

/

ThaTe

s
Spehoe

!

Order example of

Material repair kits
No % 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | Qy Eﬁgi‘;ﬁ? e Repair kits
1 | Body Aluminum alloy 1 212 PS-MCGS-12
2 | Ball Stainless steel 1 216 PS-MCGS-16
3 | Linear bearing — 2or4 220 PS-MCGS-20
4 | Rod cover Aluminum alloy 1 225 PS-MCGS-25
5 | Head cover *) Carbon steel Aluminum alloy 1 232 PS-MCGS-32
6 | Rod packing NBR 1 240 PS-MCGS-40
7 | Coverring NBR 2 250 PS-MCGS-50
8 | Snapring Spring steel 2 263 PS-MCGS-63
9 | Piston rod Stainless steel Carbon steel 1
10 | Piston Aluminum alloy 1 CyIinder Weight Unit g
11 | Magnet ring Magnet material 1 y Basic weight |Stroke 5m.m
12 | Magnet holder Stainless steel Aluminum alloy 1 odel | “mces-23 MCGS-23
13 | Piston packing NBR 1 Tube
14 | Head cushion NBR 1 LD.
15 | Bolt SCM 1 212 211 18
16 | Plate Carbon steel 1 216 260 30
17 | Guide rod Special steel 2 220 470 45
18 | Screw SCM 2 25 740 60
19 | Rod bush — Bearing alloy 1 232 1,170 85
20 | Piston bolt — SCM 1 240 1,300 98
21 | Rod cushion NBR 1 250 2,360 150
22 | Piston gasket — NBR 1 263 3,010 168

* Aluminum alloy

M mindman

4-20



MCGS-27 Inside structure & Parts list

TWIN-GUIDE CYLINDER

212~216 020~232

8)(15)(16)28)(6)(7)(4)(18)(17,

N
©

15)(8)(16)(28) (17) (18

mindman

—®
L &

L
]

6
4
s | ﬁ H % \ / }b
Werta T T 2
iy z i Bellll FPEJ I
| J | ® SO || | |
| o) Q) ! ‘ ! /@
| 1?;/ [N i | pr
I e | | e
Fa=—o0) e 28 PR ‘ ’E_C )
: @ =_<; 2 | i =
/@ \@ @\ i @
] =g +H8
g i \v\
|
| ~3
|
| @ | @
@)
©,
@9
Material
Tube I.D. .| Repair kits
No Part name 12 | 16 | 20 | 25 | 32 | 40 | 50 | 63 | QY (inglusion)
1 | Bod Aluminum allo 1
! : Y Order example of
2 | Ball Stainless steel 1~3 ir ki
3 | Linear bearing — 20r4 repair its
4 | Rod cover #1 Aluminum alloy 1 'I;uge Repair kits
5 | Rod cover #2 Aluminum alloy 1 it
6 | Rod packing NBR 2 ° 912 PS-MCGS-2-12
7 | Cover ring #1 NBR 1 [ 216 PS-MCGS-2-16
8 | Piston rod #1 Stainless steel Carbon steel 1 220 PS-MCGS-2-20
9 | Piston rod #2 Stainless steel Carbon steel 1 325 PS-MCGS-2-25
10 Piston Aluminum a”oy 1 32 PS-MCGS-2-32
11 | Magnet ring Magnet material 1 240 PS-MCGS-2-40
12 | Magnet holder Stainless steel Aluminum alloy 1 PSM P
13 | Piston packing NBR 1 ° 2 S-MCGS-2-50
14 | Head cushion NBR 1 ® 063 PS-MCGS-2-63
15 | Bolt SCM 1
16 | Plate Carbon steel 1
17 | Guide rod Special steel 2
18 | Bolt SCM 2
19 | Cover ring #2 NBR 1 o
20 | FBC board Carbon steel 1
21 | Rod cushion NBR 1 [ ]
22 | Gasket PU 1
23 | Adjustable nut Carbon steel 1
24 | Nut Carbon steel 1
25 | Bolt Stainless steel SCM 2
26 | Screw Bronze alloy Carbon steel (*2) 2
27 | Washer PET — 2
28 | Snap ring #1 Spring steel 1
29 | Snap ring #2 Spring steel 2
30 | Collar (*1) Aluminum alloy Carbon steel 2 *1. Use for stroke 101 or more.
31 | Bush _ | Bearing alloy 2 *2. The material changes into _bronze
alloy when the part thread is
32 | Piston gasket NBR 1 ol BSPF. (JISPF)

M mindman

4-21

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MC GS-O3/23 Dimensions ¢12~¢32

TWIN-GUIDE CYLINDER

+0.07

mindman

oXA 1002 X6 depth wB 4-YYxYL depth -
[ 1
% 6
N 5 oXA 155z
8 =i
o
X 04O
//: T H T I
L I
z WA XX
Back side
s
i 4-gOA thru L 4- MMxML depth
ANNThr Q z WA 4-00BxOL depth ©
S
o O B= |
XX
Y H— ] / |
& OO
Y f\ g < 15 =) | p—1
| x| o -fi ©) ] = x| a —
X LS
2-P
N 7)Y 2
| 2 O=0 |k
725 -6 -6
O\ I ;4 h
o T P - HIH HIH
J K GA GB 0
oXA"x6 depth (‘3 ‘——J PA+stroke ‘ 4—}7« wXAﬁgg x 6 depth
FA [FB C+stroke
B+stroke E
Code DB
= B C |DA FAIFB| G [GA|GB|(H | J |K| L MM |ML NN OA| OB | OL P PA | PB
ube |.D. 03 type | 23 type
12 |42 |29 6 8 6| 8| 526 (11 [15%"|58 | 13|13 | 18 |M4x0.7 | 10 | M4x0.7 | 4.3| 8.0| 4.5 | M5x0.8 | 14 8.5
16 |46 |33 8| 10 8| 8| 530 (11 [18*?|64 | 15| 15|22 [M5%0.8 | 12| M5%0.8 | 4.3| 8.0| 4.5 | M5x0.8 | 15 10.0
20 (53 |37 | 10| 12| 10|10| 6|36 [105| 85 |85 | 17|19 |24 |M5x0.8 | 13| M5%0.8 | 52| 95| 55 | Rc1/8 |125 | 11.5
25 |535|375| 12| 16| 13|10| 6|42 [115] 9 |96| 21|21 |30 |M6x1.0 | 15| M6x1.0 | 52| 95| 55 | Rc1/8 |125 | 135
32 |595|375| 16| 20| 16|12|10|51 |125| 9 |116| 26|25 | 34 |M8x1.25| 20 | M8x1.25 | 6.6| 11.0| 7.5 | Rc1/8 | 7 |16.0
e |PW|Q|R|S|T| U |VA| X |XA|XB| YY |YL|Z
12 |18 |14 | 48|22 | 56|415 |50 | 23| 3 |35 |msx08 | 10| 5 | MCGS-03 MCGS-23
16 |19 |16 | 54| 25| 62|46 |56 | 24| 3 |35|M5%0.8 |10 | 5 Codo E Code E
20 25 18 | 70| 30 | 81|55 72| 28| 3 |35 (|M6x1.0 | 12 | 17 Tube I.D. \[10~50st|51~100st| 101st~ Tube 1.D. \[10~30st|31~100st| 101st~
25 [285| 26| 78|38 | 91|65 |82 | 34| 4 [45|M6x1.0 |12 |17 12 — |185 | 43 12 1 13 | 43
32 |34 | 30| 96|44 [110(80 |98 | 42| 4 |4.5|M8x1.25| 16 | 21 16 — 185 | 49 16 3 19 | 49
God 10~50st|51~200st| 201st~ 20~30st| 31~100st [101~200st| 201st~
ode
s e 20 | — | 315 |69 20 |10 |27 |51 |69
Tube I.D. ~39st | 40~100st | 125~200st |201st~300st| 301st~ | 20~39st | 40~100st | 125~200st [201~300st| 301st~
12 20 20 | 10 | 200 | — 15 25 60 | 105 | — 25 — | 315|685 25 |16 |32 51 |68.5
16 2 22 | 110 200 | = 17 27 50 | 105 | — 32 |375| 425|805 32 |215(385 | 585 (805
20 24 44 | 120 | 200 | 300 | 29 39 77 | 117 | 167
25 24 44 | 120 | 200 | 300 | 29 39 77 | 117 | 167
Code WA WB
Tube I.D. \| 25~49st | 50~100st | 125~200st | 201st~300st| 301st~ | 25~49st | 50~100st [ 125~200st| 201~300st | 301st~
32 24 48 | 124 | 200 | 300 | 33 45 83 | 121 | 171

*1. When stroke length is equal to 19mm or less, GB=7.5 mm
*2. When stroke length is equal to 19mm or less, GB=9 mm

M mindman

4-22




MC GS-03/23 Dimensions ©40~g63

TWIN-GUIDE CYLINDER mindman
4-YY
- BXA 0% xXL depth
?(? — T slot for hexagon head bolt
>é I ——
\J 7€‘§ J\c‘B\\ a —_— ®
X8 <| 4R ———— 1 &
oxany [ g L]i
\ s+ 5 e
| \
R f%%j T slot for hexagon head bolt
g e T o) @ | P c|d]e
X wB | xx 40 | 65 |105] 55(4 |11
= N N2 50 | 85 |135] 7545135
63 |11 |17.8[10 |7 |185
Back side
XX
4-D XX K1.S._ N1 N2 AM
_ \ 11
N Q] | T——————7T o [
[ S
—— 9,

A
E
G
X+0.02
]
K
2Q1
J
|
|
|
|
|
X

" &%
Q. : ,7?7*;,7,7,%;,,
NI Ao | ’
oXAXLdp /| oc| | ap/ GH L2 | PB_| |9XA%G xXL depth
‘ ‘ GA 2P B2 B1
PA+stroke B
L1+stroke
L+stroke
MCGS-03 / MCGS-23
il A |B|B1|B2| C D DD E|E1|F | G |GA|GB|GC|H| K [K1|L1 M N1 P

Tube I.D.
40 120 | 54 | 27 | 27 | 106 | M8x1.25 | M8x1.25%x20 dp |[104| 30 | 44 | 86|14 |10 [14 40 [ 118 | 12 | 44 |@6.8thru, @11x7.5dp | 22 | Rc1/8

50 148 | 64 | 32 | 32 [ 130 | M10x1.5 | M10x1.5%22 dp |130| 40 [ 60 110 (14 (11 [12 46 | 146 | 16 | 44 |@8.6thru, 214x9dp | 24 | Rc1/4
63 162 | 78 | 39 | 39 [142|M10%1.5| M10x1.5x22 dp |130| 50 | 70 [124|16.5 [13.5 |16.5 | 58 | 158 | 16 | 49 |@8.6thru, 14x9dp | 24 | Rc1/4

< lpa|PB|a1|s|ve|w]| x| xa|xB|xc|xL YY N2 we

Tube |.D. 25st | 50,75,100st| 101st~200st | 201~300st | 301~400st | 25st | 50,75,100st | 101st~200st| 201~300st [301~400st
40 (13|18 |16 |10| 72|38 (50| 4 |45| 3 | 6 |M8x1.25x16dp |24 | 48 124 200 300 |34 46 84 122 | 172
50 91215|20 (12| 92(47|66| 5 |6 4 | 8 [M10x1.5x20dp (24 | 48 124 200 300 |36| 48 86 124 | 174

5

63 14 |28 20 |12|110| 55| 80 6 4 | 8 | M10x1.5%20 dp | 28 52 128 — - 38| 50 88 — —
MCGS-03 MCGS-23

Code L L2 Code L L2
Tube I.D. \[ 25,50st | 51st~ | 25,50st | 51~200st | 201~400st Q Tube I.D. \| 25,50st | 75,100st | 101st~ | 25,50st | 75,100st | 101~200st [ 201~400st Q

40 97 | 102 |31 36 63.5 | 20 40 81 98 | 118 | 15 32 52 725 | 216

50 (106.5| 118 | 34.5 | 46 78.5 | @25 50 93 114 | 134 | 21 42 62 87.5 | 820

63 ([106.5| 118 | 29.5 | 41 - 225 63 93 114 | 134 | 16 37 57 = 220

M mindman 4-23

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGS-O7/27 Dimensions ©12~220

TWIN-GUIDE CYLINDER

wB 23553 x6 depth

4-YYxYL depth

T

g8 / gm

mindman

- 0
O£ o °
|| B _ £ -H
x ’*’3_’"*’*’*’*""’*:”’*’ 3‘ 23 500 s
S T S9
g 6 |29
© ﬁ%k _:] 3 9
— xx
XX Z|_ WA
Back side
4-gOA thru
s 4-gOBxOL depth L
4-NN thru m
Z, WA E Q 4-MMxML depth MB
: =] ~ [ Y|
{ I 7,jL 3%‘% Y
| MC \J
EN - Hex. on opposite side +
- 7 I\ ] MD
I~ sEE————— = wf:}Eéh/” < <
I|x O 3 =X %}:7 = ;l* - _ % = =
L 4 ey —— S
/é O O | | ‘
f% ————E———E———m
O\ - i = N o
23"'x6 depth J |k 2-P GA = GB MP MK E%B
G PA+ST -
FA FB C+ST MT ST MN+ADJ
B+ST | MH+ST+ADJ *ST = Stroke
B+MH+2xST+AD.) ADJ = Adjust stroke
MCGS-07 | MCGS-27
Cod:
o B | C [DA ot FA|FB| G |GA|GB|H |J |K|L [MA(IMB(MC| MD |MG/MH{MK{MN| MM [(ML|MP|MT
Tube I.D. 07 type | 27 type
12 42 | 29 6 8 6 8| 5 |26 (|11 159 58 | 13 [ 13 |18 | 27 [ 13 | 8 |M5%x0.8 | 12 | 23 | 4 | 13 |M4x0.7| 10 | 2
16 46 | 33 | 8| 10 8 8|5 |30 (11 [18*Y| 64 |15| 15|22 |28 |16 | 10 |M6x1.0 | 15|26 | 5 | 15 |M5%0.8| 12 | 2
20 53 37 | 10 | 12 10 |10 | 6 | 36 (10.5| 85|85 (17 | 19|24 | 33 | 22 | 13 |M8x1.25( 20 | 26 | 5 | 12 | M5x0.8( 13
Ti‘:"fﬂ NN [OA|OB|OL P PA|PB|IPW|Q|R|S|[T| U [VA| X YY |YL| Z
12 M4x0.7 | 4.3 |8 4.5 |M5x0.8 |14 85| 18 |14 | 48 |22 |56 |415( 50 | 23 | M5%0.8 | 10 | 5
16 M5x0.8 | 4.3 |8 4.5 |M5x0.8|15 |10.0| 19 [ 16 | 54 | 25 [ 62 |46 | 56 | 24 | M5x0.8 | 10 | 5
20 M5x0.8 | 52 [9.5 | 55 | Rc1/8 |12.5 |11.5| 25 |18 | 70 | 30 | 81 |55 | 72 | 28 | M6x1.0 | 12 | 17
MCGS-07 MCGS-27
Code WA WB Code E Code E
Tube I.D. 10~39st | 40~100st | 125~200st | 201st~300st 10~39st |40~100st | 125~200st | 201~300st Tube I.D. \| ~50st [51~100st| 101st~ Tube I.D. ~30st 31~100st | 101st~
12 20 40 110 200 15 25 60 105 12 0 18.5 | 43 12 1 13 43
~39st | 40~100st | 125~200st | 201st~300st| ~39st | 40~100st | 125~200st | 201st~300st 10~50st|[51~100st| 101st~ 10~30st | 31~100st | 101st~
16 24 44 110 | 200 17 27 60 105 16 0 | 185 | 49 16 3 19 49
~39st | 40~100st [ 125~200st | 201st~300st| 301st~ ~39st | 40~100st | 125~200st | 201st~300st| 301st~ ~50st [51~200st| 201st~ 20~30st | 31~100st |101~200st| 201st~
20 24 44 120 | 200 | 300 | 29 39 77 117 | 167 20 0 |315]| 69 20 10 27 51 69

*1. When stroke length is equal to 19mm or less, GB=7.5 mm
*2. When stroke length is equal to 19mm or less, GB=9 mm

M mindman

4-24




MC GS-O7/27 Dimensions ©25~g63

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

TWIN-GUIDE CYLINDER mindman
aXA S x6 depth 33
2
z WA S
4-YYxYL depth
e,
g XB
O o 0 % oxassy [~ ]
< N
= e i
L < |
ar
o ei\g\aa\> 5 \{‘/
- <
1
|| | XX
wB XX Back side
s 4-gOA thru L
4-gOBxOL depth
Q E MB
4-NN thru a 4-MMxML depth
— Q N
D O = MC
@ Hex. on opposite side
‘ XX
1 / mp
| ~ ]
=] O]
B e | s R S £
P & &
oXA""x6 depth — O Y
@9 et = fﬁ,i,i,i\;&,,4
& Y O :
= il il
S K P GC
A _leal_ GB MP
PA+ST
FAIFB C+ST MT ST MN+ADJ| || MK
. *ST = Stroke
MH+ST+ADJ .
B+ST ‘ +8T ADJ = Adjust stroke
B+MH+2xST+ADJ
MCGS-07 | MCGS-27
Cod
= = B | C |[DA be FA|IFB|G|GA|GB|GC| H|J|K|L [MA|MB{MC MD |MG|MHMK|MN{ MM |ML|MP{MT
ube I.D. 07 type | 27 type
25 53.5(37.5( 12 16 13 10 6 (42 (115 9 |11.5( 96(21(21|30| 41| 25 | 17 |[M10x1.25/ 20 |27 | 6 | 12 |M6x1.0 |15 3 | 5
32 59.5|37.5| 16 | 20 16 12 | 10 |51 (125 9 |125(116(26 (25|34 | 51 | 32 | 19 [M12x1.25(30 |30 | 7 | 12 |M8x1.25|20| 3 | 6
40 66 |44 16 | 20 16 12 | 10 | 54 (14 (10 |14 (120|27 (27 |40| 60 | 32 | 19 |[M12x1.25(30 | 30 | 7 | 12 |M8x1.25|20| 3 | 6
50 72 |44 20 | 25 20 16 | 12 |64 (14 |11 |12 [148(32(32|46| 71 | 38 | 24 (IM16%x1.5 (35|38 | 8 | 15 |M10x1.5|22| 4 | 8
63 77 |49 20 | 25 20 16 | 12 | 78 [16.5(13.5]|16.5(162 (39 (39|58 | 84 | 50 | 24 |[M16%x1.5 (35|38 | 8 | 15 |M10x1.5|22| 4 | 8
G| NN |OA|oB|loL| P |PA|{PB|PW|Q|R|S|T| U [VA| X |XA|XB|XC|XL| YY |[YL|Z
25 M6x1.0 | 5.2 |9.5| 55 | Rc1/8 |12.5 (135 |28.5| 26 | 78| 38 | 91 6582 (34| 4 |45] 3 6 [M6x1.0 | 12| 17
32 M8x1.25| 6.6 | 11 75| Re1/8 | 7 16 34 30| 96|44 (110 80| 98 (42| 4 |45]| 3 6 [M8x1.25( 16 | 21
40 M8x1.25| 6.8 | 11 7.5 | Rc1/8 13 18 38 30 (104 44 (118| 86 |106| 50 | 4 |45]| 3 6 [M8x1.25( 16 | 22
50 M10x1.5| 86 |14 | 9 Rc1/4 |9 21.5 |47 40 [130| 60 |146| 110 |130| 66 | 5 6 4 8 [M10x1.5( 20 | 24
63 M10x1.5| 86 |14 | 9 Rc1/4 |14 28 55 50 (130 70 (158 | 124 |142| 80 | 5 6 4 8 [M10x1.5( 20 | 24
Buie WA wB MCGS-07 MCGS-27
Tube I.D. ~39st |40~100st 125~200st |201st~300st| 301st~ | ~39st [40~100st 125~200st|201~300st| 301st~
Code E Code E
25 24 44 120 | 200 | 300 | 29 39 77 | 117 | 167
~49st_|50-100st 125-200st[201s-300st] 301st~ | ~49st |50~100st T25-200s [a0ts-aute] B0tst~ | e LD\ =50t 151~200st) 201st- | | Tube LD. Y 20~30st | 31~100st |101~200st) 201st~
32 4 | 48 124 | 200 | 300 | 33 | 45 83 | 121 | 171 25 | 0 |315]685|| 25 | 16 | 32 | 51 | 685
495t | 50~69t | 70~100st| 125-200st[201st-300st] 301st- | ~agst | 50~69st | 70~100st|125-200st|201st-300s(] 3015t~ 32 | 375|425 |805 32 205505H([54210054114015200s 201 52
40 21.5 38.5 58.5 80.5
24 | 48 | 48 | 124 | 200 | 300 | 34 | 46 | 46 84 | 122 | 172 40 31 36 | 63.5
~49st | 50~69st | 70~100st| 125-200st[20tst-3u0s(] 301st~ | ~a9st | 50~69st [70~100st]125~200st[20tst-a00s 015t~ 50 |345| 46 | 785 ~69st | 70-100st [101-200st| 201st>
50 40 15 32 52 72.5
24 | 48 | 48 [ 124 | 200 | 300 | 36 | 48 | 48 | 86 | 124 | 174 ~50st | 5lst~ .
~49st_|50~100st 1255t~ ~49st_|50~100st 1255t~ 63 05| a1 50 21 42 62 | 875
63 28 52 128 38 50 88 ~69st | 70~100st | 101st~
63 16 37 57
M mindman 4-25

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGB series

TWIN-GUIDE CYLINDER

Order example

MCGB—-03—-12—-50—-G

I

MODEL TUBE I.D. STROKE
———
PURPOSE / TYPE OF BEARING POREIRIREAD
Blank: M5x0.8
Code Purpose / Type of bearing (for 212, 16)
_ Blank: Rc thread
03 | Stop / Slide bush G: G thread

23

Push / Linear bearing
(Could attach a table for the use as a lifter)

Installation of sensor switch

M mindman

NPT: NPT thread
(for 20~@32)

Sensor switch

/" RCE, RCE1

Sensor switch
/ RDEP
~

Watchmakers

~~__ ~ screw driver

mindman

Features

e Proven track record in manufacturing precision guided cylinders.
e Multi-Ports as standard enabling two direction mounting option.
e Flush fitting sensors.

e Inbuilt high density rubber pad absorbs energy at the end of
stroke.

e Magnetic as standard.

Specification
Model
Model

Acting type Double acting
Tube 1.D. (mm) 12,16 20,25,32
Port size M5x0.8 Rc1/8
Medium Air
Operating perssure range 0.1~1 MPa
Proof pressure 1.5 MPa
Ambient temperature -5~+60°C (No freezing)
Cushion With rubber cushion pad
Available speed range 50~500 mm/sec
Lubrication Not required
Sensor switch (*1) RCE, RCE1, RDEP

*1. RCE, RCE1, RDEP specification, please refer to page 8-12,13,18.
*2. For precautions, please refer to page 4-12.

Table for standard stroke

Series variety | Tube Stroke (mm)
(Bearing type) | I.D. |10 (20 (2530|4050 |75 [100{125(150(175|200
212
MCGB-03 016
(Slide bushy |-220 | =
225 o
232*
212
MCGB-23 216
(Linear bearing) 920 —
225 o
232
*1. MCGB-03 ~Tube 1.D.232: 25mm for the shortest standard

stroke.
*2. Please consult us if stroke out of specification.

4-26



MCGB Capacity 212~¢32

TWIN-GUIDE CYLINDER mindman
Capacity graph Stop capacity Stop capacity
Capacity for the use as a stopper =~ MCGB-03..30st MCGB-03...30st
~ 300 1000
‘ <L g 12!3‘2
| 5 200 <
o) o
4 GEJ 225 \ S 500 232
ks \ =
! E 100 Lo 5 = { L
® \ X}
M 016 \ 5 et
j/ g _04’2_\2 I S /—C 212
Linear bearing type is not available as a 0 10. 20 30 0 0'2. 04 06 08 1
stopper. Work carrier speed (m/min) Working pressure (MPa)
v
| } :
E
— - - -
i Coefficients for conversion
|
| . L MCGB series| 212 | 216 | 220 | @25 | 232
= X —
‘ W=W ¢ ¢ 40 | 42 | a2 | a2 | 44
j/ W: The maximum weight of the work carrier in the
above graph for the stopper's capacity.
For the use of attaching a plate to the
link bar, choose a bore size referring to
the formula below.
Capacity for the use as a lifter Slide bush Slide bush
Allowable eccentricity load for the use as MCGB-03...10-50st MCGB-03...75-200st
a lifter (at supply pressure 0.5 MPa)
g g — 232
g 232 8
o 200 ¥ o 200
T o 925\ Q \
L(mm) = LD = | 225
! = _\< 020 2
) rd ) | 620
‘ o 100 216 Q 100
‘ ] gx—mz ] 2o
o N @ [ o12 —
T < § ° =S
| 2 o 100 200 300 2 o 100 200 300
| = —_—
‘ < Eccentric throw (mm) < Eccentric throw (mm)
|

Linear bearing
MCGB-23...10-50st

7

Linear bearing
MCGB-23...75-200st

Show the dynamic allowable value at

L(mm) eccentricity from the center of the =
guide rod ® B 032
’ o 200 025

Q -
= 020
§ 100 _W 016
o _@ 12
2 —
Q
©
2
2
<

0 100 200 300
Eccentric throw (mm)

g - 232

S

o 200

L2 | 025 \

<

8 100 |2 \\

3 016

[} [~ o12

% _\é\\_
3 0 100 200 300
<

Eccentric throw (mm)

M mindman 4-27

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGB Capacity 212~932

TWIN-GUIDE CYLINDER mindman
Capacity table
p y Unit: N
Allowable lateral load Tube _ Stroke (mm)
Bearing type
1.D. 10 [ 20 | 25 | 30 | 40 | 50 | 75 | 100 | 125 ( 150 | 175 | 200
w 212 Slide bush 31| 24 | — 19 16| 13| 37| 31| — — - —
‘ Linear bearing 23 (17 | — | 14| 34| 30| 23| 19| — | — | — | —
216 Slide bush 50 | 39 | — | 32 27| 24| 54| 45| — - - -
N T EB’ Linear bearing 36 | 29 | — | 24 59 52| 40| 33| — = = =
220 Slide bush — | 51 — | 44 39| 35| 54| 46| 74| 66| 59| 54
Linear bearing — | 43 | — [ 36| 98| 87| 69| 57| 46| 40| 36| 32
sh the d ic all bl | 225 Slide bush — | 68 | — | 59 52| 46| 72| 61| 98| 88| 79| 72
ows the dynamic allowable value, Linear bearing — |67 | = | 56 [148|132] 105 | 87| 70| 62| 55| 50
when actuating the cylinder with lateral -
load W at the guide rods' top (vertical 232 Slide bush - — | 165| — — | 129|106 | 90| 138|123 | 111 | 101
load against the guide rods). Linear bearing — [ = |104| — | — 741165 (138 | 114 | 100 | 90 | 81
. Unit: N.m
Allowable rotating torque T R Stroke (mm)
earin: (5
1.D. it 10 ( 20 | 25 | 30 | 40 | 50 | 75 (100 | 125 | 150 | 175 | 200
I 212 Slide bush 0.64|0.48| — [0.39/0.32(0.28|0.75|0.63| — — — —
; ‘ Linear bearing 0.4710.35( — [0.29|0.71|0.62(0.40|0.38| — = = =
- ’@*@’ @ B . Slide bush 1.14|0.90| — |0.74|063|055|1.23|1.04| — | = | = | =
; Linear bearing 0.84(0.66| — |0.54|1.35|1.19(0.93|1.76| — [ — | — | —
T 20 Slide bush — [1.14] — |1.21|1.07(0.95|1.49(1.25|2.03|1.81(1.63|1.48
e Linear bearing — [1.19] — |0.99|2.69(2.40|1.89(1.56|1.26|1.10(0.98|0.88
Shows the dynamic allowable value, 225 Slide bush — [2.19| — |1.88|1.65[1.47|2.31(1.94|3.15|2.80(2.52|2.30
when actuating the cylinder with a Linear bearing — |214| — |1.79|4.74|4.22|3.36(2.78|2.25(1.98 | 1.76 | 1.59
rotating torque T at the guide rods' top. 32 Slide bush — | — |661| — | — |5.16[4.23|3.59|5.52|4.93 [4.45|4.06
e Linear bearing = — [4.17| — — 12.95(6.60|5.52(4.56|4.02|3.59 (3.24
Anti-roll accuracy ) Anti-roll accuracy
Tube 1.D. Bearing type o
[T 12 Slide bush +0.09°
A ‘ ,,W{SQ e Linear bearing +0.06°
?*@é@:’j ] Slide bush +0.08°
‘ Y B A 216 - : .
e Linear bearing +0.06
Slide bush +0.08°
220 - -
. Linear bearing +0.03°
e The value_s are the _deflectlon Slide bush +0.07°
angle against the piston rod. 225 T o 20.05°
e Exclusive factor of the guide |r1ear carng —
rods' deflection. 232 Slide bush +0.07
Linear bearing +0.03°

M mindman 4-28



MCGB-O3 Inside structure & Parts list

TWIN-GUIDE CYLINDER

|
T

g

Material

No ;::i;ﬁe 12 | 16 | 20 | 25 | 32 |ay Eﬁgi'srl';':s
1 | Body Aluminum alloy 1

2 | Ball Stainless steel )

3 | Slide bush Bronze alloy 4

4 | Rod cover Aluminum alloy 1

5 | Head cover *) Carbon steel 1

6 | Rod packing NBR 1 ([ )
7 | Cover ring NBR 2 [ ]
8 | Snapring Spring steel 2

9 | Piston rod Stainless steel Carbon steel 1

10 | Piston Aluminum alloy 1

11 | Magnet ring Magnet material 1

12 | Magnet holder Stainless steel 1

13 | Piston packing NBR 1 [ ]
14 | Head cushion NBR 1 o
15 | Bolt SCM 1

16 | Plate Carbon steel 1

17 | Guide rod Carbon steel 2

18 | Screw SCM 2

19 | Rod cushion NBR 1 ( }

*Aluminum alloy

M mindman

4-29

mindman

Order example of
repair kits

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

Tube Repair kits

212 PS-MCGB-12
216 PS-MCGB-16
20 PS-MCGB-20
925 PS-MCGB-25
232 PS-MCGB-32

Cylinder weight  unit. g

Model Basic weight | Stroke 5mm
MCGB-03 MCGB-03

Tube

1.D

212 21

216 28

220 45

225 63

232 90

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MC GB-23 Inside structure & Parts list

TWIN-GUIDE CYLINDER

\g
;

<

=
)
>

il

o
=

J

hrswan

Material
No J::i;ﬁe 12 | 16 | 20 | 25 | 32 |ay Eﬁgi‘;gﬁ?
1 | Body Aluminum alloy 1
2 | Ball Stainless steel 3
3 | Linear bearing — 4
4 | Rod cover Aluminum alloy 1
5 | Head cover *) Carbon steel 1
6 | Rod packing NBR 1 [ )
7 | Cover ring NBR 2 [ )
8 | Snapring Spring steel 2
9 | Piston rod Stainless steel Carbon steel 1
10 | Piston Aluminum alloy 1
11 | Magnet ring Magnet material 1
12 | Magnet holder Stainless steel 1
13 | Piston packing NBR 1 [ )
14 | Head cushion NBR 1 [ )
15 | Bolt SCM 1
16 | Plate Carbon steel 1
17 | Guide rod Carbon steel 2
18 | Screw SCM 2
19 | Rod cushion NBR 1 [ J

*Aluminum alloy

M mindman

4-30

mindman

Order example of

repair kits
Tube Repair kits
212 PS-MCGB-12
216 PS-MCGB-16
220 PS-MCGB-20
225 PS-MCGB-25
232 PS-MCGB-32

Cylinder weight  unit g
Basic weight | Stroke 5mm

Model | “MceB-23 MCGB-23
Tube

1.D.

212 18

216 30

220 45

225 60

232 85




MC GB Dimensions ¢12~332

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

TWIN-GUIDE CYLINDER mMmindman
- T 4-M
4-MM ‘ T2 |
O ©
I I B | eeee— Back side
o ©
E N1 N2 |
4-D E1 N1 N2
I ‘ | | 4-DD
|@€§@ 10
t |
<|wlo ﬂg @ é{} xgl -— ————
| ©
i | | i
I
B1 | B2 4-P thru Vv } AH X
B 4-P1 S I
K1 |V L1+stroke C1
L+stroke L2
|
MCGB-03 / MCGB-23
e | A| B |B1|B2| C |C1 D DD E|E1|F| G| H |K|[KI| L |[L1]|L2 M MM
12 | 58| 26| 13|13 |40 |18 |M4x0.7 |M4x0.7x9dp |48 | 14 | 22 |41.5|M5x0.8| 56| 8|39 | 29 M4x0.7x7 dp | M5x0.8x10 dp
16 |64 (30| 15|15 |42 | 22 |M5x0.8 |M5x0.8x11dp |52 | 16 | 25 |46 |[M5x0.8| 62| 8[43 | 31 M5x0.8x8 dp | M5x0.8x10 dp
20 |85(36|17 |19 |52 |26 |M5x0.8 |M5x0.8x13dp |60 | 18 | 30 |55 | Rc1/8 | 81| 10[47 | 35| (*)[|M5x0.8x7dp | M6x1.0x12 dp
25 |96 |42 21|21 |62 32(M6x1.0 |M6x1.0x15dp | 70 | 26 | 38 |65 | Rc1/8 | 91| 10|47.5(35.5 M6x1.0x9dp | M6x1.0x12 dp
32 |[116]| 51|26 | 25 | 80 | 38 | M8x1.25| M8x1.25x18 dp| 96 | 30 | 44 [80 | Rc1/8 |110| 12]47.5/33.5 M8x1.25x11 dp | M8x1.25x16 dp
Code Q
N [N1|N2| P P1 Q1|s|{T|TM|{T2|V | wWw|X]|Y
Tube I.D. MCGB-03 | MCGB-23
12 [ 23| 5 (20 |@4.3| @8x4.5dp 8 6 62| 50] 1212 |11 |15 | 85|195
16 |24 | 5 (|22 |@4.3| @8x4.5dp 10 8 4| 54|11 [13 [11 [17 |10 |23
20 [28(19 [16 |05.3| 95x55dp | 12 10 |10 2| 64| 11 |14 [12 |23 |115 |245
25 |34 (22 [12.5|85.3| 89.5x55dp | 16 13 | 12| 2| 76|12 [135 [11 [235(135 |24
32 |[42|22 [14.5|06.6| 11x6.5 dp 20 16 | 16| 2 [100| 12 [16.5 [11.5 |25 [16 |31
* L2 dimensions list
MCGB-03 MCGB-23
Code Stroke (mm) Code Stroke (mm)
Tube1D.\[ 10 | 20 | 25 | 30 | 40 | 50 | 75 [100{125[150(175]|200 Tube 1D.\[ 10 | 20 | 25 | 30 | 40 | 50 | 75 [100{125[150(175]|200
12 [o|o|—=1]oO 18l18|—|—-|—=1|— 12 (ol o|—=|o|14|1a|1a|1a|—-|—=]|=]|=
16 | 0| o0o| =10 21|21 | == | =| — 16 |o|o|—=fof2t|2t|2t|2t|=|=|=]—=
20 |[—]o|—=1]o 14 | 14 | 31| 31| 31| 31 20 | —|o| —| o027 |27 |27 |27 |50]|50|50]| 50
25 | —|o|—|o|o|o|14|14]31]31]31]31 25 | —| 2| —=| 2|35[35]|35|35]|50]|50|50]| 50
32 [— | —|20|20]|20]|20]20|20]|42]|42]42]42 32 [—|—| 8| 8| 8| 8 |42]42]|55]|55]55]55
ﬂ‘//ﬂ mindman 4-31

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGI series

COMPACT TWIN-GUIDE CYLINDER

Table for standard stroke

Tube I.D. Stroke (mm)
220,25 5,10, 15, 20, 25, 30, 40, 50, 60, 80, 100
032,40 5, 10, 15, 20, 25, 30, 40, 50, 60, 80, 100,

150, 200

250,63,80,100

10, 15, 20, 25, 30, 40, 50, 60, 80, 100,
150, 200, 250, 300

e Please consult us if stroke out of specification.

Order example

MCGI—12—-20—-25

MODEL

I

TUBE I.D. STROKE

——
PURPOSE / TYPE OF BEARING

Code Purpose / Type of bearing

12 | Lift / Slide bush

M mindman

mindman

Features

e Higher loading capacity compared to unguided standard compact
cylinders.

e Wide range of bore sizes and strokes.

e Ultra compact, light weight and space saving.

e Sensor slots on RCI sides for flush mounting of proximity sensors.

e Magnetic as standard.

Specification

Model MCGI

Acting type Double acting

Tube I.D. (mm) 20,25 32,40,50,63,80,100
Port size M5x0.8 G1/8
Medium Air

Operating perssure range 0.15~1 MPa 0.1~1 MPa
Proof pressure 1.5 MPa

Ambient temperature —5~+60°C (No freezing)
Cushion Rubber bumper
Available speed range 50~500 mm/sec

Stroke length tolerance (*) +0~+1.0 mm

Lubricator Without lubrication
Sensor switch RCI (Please refer to page 8-14)

* Stroke length tolerance does not include the amount of bumper
change.

Mounting accessories

FBC — MCIJI — 20

MODEL  TUBE I.D.

MOUNTING TYPE

' FBC

* Use the same accessory with MCJI.

Installation of sensor switch

Sensor switch RCI

4-32



MC GI Inside structure & Parts list

COMPACT TWIN-GUIDE CYLINDER

D

%

mindman

A-A
Order example of
Material component parts / repair kits
No Part name Material Q'y Cor:;gg:ent R.’epair'kits TIUSG Component parts Repair kits
(inclusion) | "°USON | o 0 cp-Mcal20 | Ps-McJI20

1 | Rod cover Aluminum alloy 1 [ ] 225 CP-MCGI-25 PS-MCJI-25
2 | End cover Aluminum alloy 1 (] 232 CP-MCGI-32 PS-MCJI-32
3 | Tube Aluminum alloy 1 240 | CP-MCGI-40 PS-MCJI-40
4 | Piston-R Aluminum alloy 1 [ ) 250 CP-MCGI-50 PS-MCJI-50
5 | Piston-H Aluminum alloy 1 [ } 263 CP-MCGI-63 PS-MCJI-63
6_| Piston rod A ! 80 | CP-MCGI-80 | PS-MCJI-80
7_| Rod packing NBR ! d d 2100 | CP-MCGI-100 | PS-MCJI-100
8 |Bush Bearing alloy 1 d *Use the same repair kits with MCJI.

9 | Magnet ring Magnet material 1 [ ]

10 | Piston packing NBR 1 ) [ Cylinder weight

11 | O-ring NBR 1 Ll ol Model Basic weight | Stroke 5mm

12 | Screw Carbon steel 1 ° NS MECER

13 | Cushion NBR 2 [ ] [ ] Tube

14 | O-ring NBR 2 [ ) () I.D.

15 | Screw Stainless steel 6 [ } 220

16 | Wear ring Resin 1 [ ) 225

17 | Plate Aluminum alloy 1 [ } 232

18 | Guide rod Medium carbon steel 2 240

19 | Guide rod bush Bearing alloy 2 [ } 222

20 | Bolt for piston rod Carbon steel 1 [ ) 280

21 | Bolt for guide rod Carbon steel 2 [ ] 2100 2,595 100

*1. Material 20,225: Stainless steel; 232~2100: Medium carbon steel

M mindman

4-33

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MC GI Dimensions 220~2100

COMPACT TWIN-GUIDE CYLINDER mindman
ZE+stroke
ME WH ZA+stroke
C C
PL PL
—
) ya '
7= I 5
2 Blor-—ed |
2 : ) \ m}
— z
(I I e %,,,4E
Tu(:;de_ A B C |D1 D2 E EE FB | | J L |ME|PL RT TG (WH| ZA | ZE
20 17 [ 12 1" 11 | M4x0.7 355 M5x0.8 4 9121 |1 8|7 M5x0.8 | 22 6 37 | 51
25 22 156 |11 14 | M5x0.8 39.5 M5x%0.8 5 9 121 |1 8|7 M5%0.8 | 26 6 39| 53
32 28 [ 19.8 |14 17 | M5x0.8 47 G1/8 5 912115 |10 |75 M6x1.0 | 325( 7 44 | 61
40 33 1233 (14 17 | M5x0.8 54.5 G1/8 5 912115 |10 |75 M6x1.0 | 38 7 45| 62
50 42 [ 29.7 |14 22 | M6x1.0 65.5 G1/8 6 12126 |15 |12 |75 M8x1.25 | 46.5 8 45| 65
63 50 [ 354 |14.5| 22 | M6x1.0 75.5 G1/8 6 121 26 (15 |12 |75 M8x1.25 | 56.5 8 49 | 69
80 65 | 46 155 | 24 | M8x1.25 | 95.5 G1/8 8 12| 26 |2 14 |8 M10x1.5 | 72 10 | 54| 78
100 80 | 56.6 [18.5| 24 | M10x1.5 | 113.5 G1/8 10 | 12| 26 | 2 14 | 95 M10x1.5 |89 10 | 67 | 91
220, @25 ZF+stroke UF
MF TF
oFB
[T ] /
|| Ly L
i@, ,,,,,,,,,,,, — 1 . i
UF oFB
232~3100
Ti‘;de_ D E FB|MF| R | TF | UF | ZF
20 16 355| 66| 8 — | 55 70 59
25 16 395| 66| 8 — | 60 76 61
32 30 47 7 10 32 | 64 80 71
40 |35 545| 9 |10 | 36|72 | 90| 72 W
50 40 655 | 9 12 45 | 90 110 77
63 45 755 | 9 12 50 | 100 | 120 81
80 45 95.5 |12 16 63 | 126 | 150 94
100 55 | 113.5 |14 16 75 | 150 | 175 | 107

M mindman

4-34




MCGJ series

TWIN-GUIDE CYLINDER

z

Order example
MCGJ—12—-12—-50—[]

| I

MODEL TUBE |.D. STROKE
——
PURPOSE / TYPE OF BEARING PORIQIIEFAD
Blank: M5%0.8
Code Purpose / Type of bearing (for 12~225)
. . Blank: Rc thread
12 Lift / Slide bush G: G thread

NPT: NPT thread
(for 32~2100)

Weight

Unit: g
212 45 7
216 66 8
220 110 14
225 148 16
232 241 23
240 349 o5
250 595 38
263 904 46
280 1648 72
2100 2752 97

M mindman

mindman

Features

e Higher loading capacity compared to unguided standard compact
cylinders.

e Wide range of bore sizes available 12mm ~ 100mm.

e Up to 6 flush fitting reed switches can be mounted.

e Piston rod available in high resistant carbon steel or stainless steel.

e Magnetic as standard.

Specification

Model MCGJ
23 ) O)

Model o] | [ ( )‘/ZN [

(Up view) ° 5y kf/_) é}j\hﬁ_jﬂé
Acting type Double acting
Tube I.D. (mm) 12,16 | 20,25 32,40 |50,63,80,100
Port size M5x%0.8 Rc1/8 Rc1/4
Medium Air
Operating perssure range 0.1~1 MPa
Proof pressure 1.5 MPa

Ambient temperature —5~+60°C (No freezing)

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

Cushion Without With rubber cushion pad
Available speed range 50~500 mm/sec
Lubrication Not required
RCB [ ] [ J
:;E(S:ﬁr(*) RCE,RCE1| @ ° °
RDEP o [ J [ J

* RCB, RCE, RCE1, RDEP specification, Please refer to page
8-10,12,13,18.

Table for standard stroke

Series variety | Tube Stroke (mm)
(Bearingtype) | I.D. | 5 (10| 15|20 | 25|30 (35| 40 | 45 | 50

212
216
220
225
MCGJ 232*
(Slide bush) 240
250
263
280
2100
* Please consult us if stroke out of specification.

4-35

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘ Juawdinb3 Arexny | Japuika Jaddoyg | JapuIka sSajpoy |




MC GJ Inside structure & Parts list
TWIN-GUIDE CYLINDER

mindman

18

E
&=
AN

Giei

@®)
-
o

|

T

Order example of

M mindman

4-36

Material repair kits

No. Jﬁﬁié‘ﬁg 12~25 | 32,40 |50~100 | Qy ﬁﬁgﬁglzgj ube Repair kits
1 |Body Aluminum alloy 1 212 PS-MCGJ-12
2 | Cover ring NBR 2 [ 216 PS-MCGJ-16
3 |Rod cover Aluminum alloy 1 220 PS-MCGJ-20
4 |Rod bush Bearing alloy (for 240~2100) 1 225 PS-MCGJ-25
5 |Rod packing NBR 1 o 232 PS-MCGJ-32
6 |Rod cushion NBR 1 [ ] 240 PS-MCGJ-40
7 | Piston rod Carbon steel 1 250 PS-MCGJ-50
8 [Piston Aluminum alloy 1 263 PS-MCGJ-63
9 | Piston for magnet ring Aluminum alloy 1 280 PS-MCGJ-80
10 [ Magnet ring Magnet material 1 2100 PS-MCGJ-100
11 | Piston packing NBR 1 o

12 | Wear ring — Resin 1

13 | Piston gasket NBR 1 o

14 | Bolt for piston Carbon steel 1

15 | Head cushion NBR 1 ®

16 | End cover Aluminum alloy 1

17 | Snap ring Spring steel 1

18 | Plate Aluminum alloy 1

19 | Guide rod Carbon steel 2

20 | Guide rod bush Bearing alloy 2

21 | Bolt for piston rod Carbon steel 1

22 | Bolt for guide rod Carbon steel 2



<2}
QO
=
o
. = 2
MCGJ Dimensions 212~2100 s
=
TWIN-GUIDE CYLINDER mindman =
D
E
212, 16 220, 625 232~2100 =2
BD ;-—"-
BF BF BC BC =
| — — =3
BE BE BE__BE =
4-K thru =
// ] 4K thru
3] a3 : |
(@] o
[a) Ve
@ mJ/,w/QJ &Y 2 mJ/’W CJ \Z & f W/
J 4K thru 8J/ ) =
5 o e O (@] N =
/ @ ;
I E
=3
2D1 2-0D2 ob1 =
20Dz [ ‘ ] ) [ ‘ ‘ ‘ ] I0) 2-pD2 oD1
'4,‘ ]: :i 1 [ T
g o ol | e [ ] o] -
@ Q _é 2 % <r |] [I =S8 =
2-EE i s £ g4 B iy CD &
i 2| N @l d w e 2
\@ @ o i ol 8 5
I | N i s & =
‘ 2-EE ii £ N
2-EE & fh
2-MMxBB depth 2-MM~BB depth I ! <>
!
:L N
T 2-gN thru E, =
2-¢OxDD depth
- 2-MMxBB depth
E I
WS 3 R
\/ D =
&l C =
=3
w
[72)
DE <
w =3
@
L@
Code_ /BB | BC | BD |BE|BF|D1|D2|DD| E | EE ([G|H| K |LH| MM |[N|O|PA|PB| S |U |V |wW]|zz g
=)
12 (10| 9|27 | 9| 27| 6| 4 15.5 |M5x0.8 | 6| 4.5| M4x0.7 M5x0.8 65| 65|22 [125| 25| 32(325 @
16 [ 10|10 |31 [10]| 31| 6| 4 20 |M5x0.8| 6| 5| M4x0.7 M5x0.8 72| 7228514529 | 38|39.5 g_
20 |10 |10 |32 [18] 50| 10| 5 36 |M5x0.8| 8| 4| M6x1.0 30 | M6x1.0 8 | 55295 |15 |37 | 47|415 =
(92}
25 |10 |12 |37 |20 54| 12| 5 40 |[M5x0.8| 8| 4.5| M6x1.0 35 | M6x1.0 95| 55 (325|175 | 40 | 52|45 =
32 | 10|16 |47 |20 | 56| 16| 6| 7 |34 Rc1/8 (10| 65| M6x1.0 | 49.5(M6x1.0 | 55[ 9 [105| 8 [33 [225 45495 I
40 |10 |19 |54 |25 64| 16| 6| 7 |40 Rc1/8 (10| 6.5 M8x1.25 | 57 [M6x1.0 | 55| 9 |11 8 [39.5 (26 52 |56 =
50 |14 |24 |66 | 30| 80| 20| 8| 8 |50 Rc1/4 (12| 75| M8x1.25 | 71|M8x1.25 | 6.6 |10.5/10.5 | 10.5 | 40.5 |32 64 | 60 =.
63 | 18|31 |80 |38 | 94| 20| 10{10.5|60 Rc1/4 [12| 75| M8x1.25 | 84 [M10x1.5 | 9 |14 |145 105 |46 385 77|65.5 ]
80 | 22|38 |100]| 40 [108] 25| 12|11 |77 Rc1/4 (15| 15| M10x1.5 | 104 [M12x1.75[11 [17.5(20 [12 |52 |49 98 | 82 m
100 |22 | 46 |120| 48 |128] 30| 12 (11 |94 Rc1/4 [18| 19| M10x1.5 |[123.5 [ M12x1.75|11 |17.5(22 |13 |57.5 585 17 |94.5 =
=
=
AW mindman 4-37




MCGJ Installation of sensor switch 212~2100

M

TWIN-GUIDE CYLINDER

Sensor switch
RCB

Watchmakers

S screw driver
RS

Sensor switch

Sensor switch
RDEP

RCE, RCE1

Sensor switch: RCB
220, 825

Tucb(;dI(.ED. A B c D E
20 38| 22 6 [ 16 | 22
25 43|25 6 |16 | 22
50 72|40 6 |16 | 22
63 85|46.5 | 6 | 16 | 22
80 |106|57 6 [ 16 | 22
100 |125(66.5 | 6 | 16 | 22

M mindman

mindman

Sensor switch: RCE, RCE1, RDEP
912, 916, 832, 340

01l

I Tl I

°

Sensor switch: RCB, RCE, RCE1, RDEP
250~2100




MGT? series

TWIN-GUIDE CYLINDER mindman

Features

e The guide rod cylinder is a combination of ISO 6432 / ISO 15552 cylinders
with guide accessories. It has excellent resistance to rotation, torque and
lateral load.

e Four self-lubricating bushes or linear bearings enable high loading and precise
movement.

e Simplified structure, save a lot of time when designing mechanism/application,
generating new drawing and installing.

e The MGT* have longer stroke and a larger bore size than the MCG* cylinder.

e 332~263 With four grooves on the tube, reed sensors can be easily inserted
into any position.

| JapuiAa 19edwon) | JapuIlka plepuelg ‘

e Adjustable cushion as standard. §
e Periodically refill with Lubricating grease is required to enhance the lubricative o
grade and lifetime. =
® Magnetic as standard. =4
D
Specification B
MGTB, MGTU
MGTK MGTX -
Tube I.D. (mm) 20 25 32 40 50 63 g_
Portsize cie  |cis| s |cas o
MGTK Lightduty type The range of stroke (mm) Stroke by request §_
X - @
MGTX Light duty flange type MSellui Air
Operating pressure range 0.2~0.7 MPa
MGTB Heavy duty (bush) type Ambient temperature -5~+60°C (No freezing)
MGTU Heavy duty (linear bearing) type o Cylinder Not required
Lubrication — —
Guide (*) Lubricating grease =N
Order example Available speed range 50~750 50~500 mm/sec @
Sensor switch RCM RCI
MGTB —_ 40 —_ ] OO —_ RP Sensor switch holder BM20 | BM25 -

| | * Periodically refill with the Lubricating grease is required to enhance the
lubricative grade and lifetime.

TUBELD. STROKE RCM sensor switch specification
MODEL
n . Without NPN PNP
q 3 ’f Switch type Reed switch contact | current sinking |current sourcing
&:‘W *q REAR FLANGE Voltage range  [5~240V DC/AC| 10~30V DC 5~28V DC
=
MGTK COUPLING Current range 100mA max. 50mA max.
| Shock resistance 30G 50G
B = X
I . ) Tl * RCM specification, please refer to page 8-16.
EY— T re . —
i MGTX RP: With rear flange coupling RCI sensor switch SpGlelcatlon

[ RCI RCI-N RCI-P RNI

‘1uewd!nb3/(m!|!xnv| Japuika Jaddoyg | JapuIka sSajpoy |

Reed NPN PNP NPN PNP
Switch type switch Reed Reed current | current
switch switch | sinking | sourcing
Voltage range 5~240V DC/AC 10 ~ 30V DC
Current range 100mA max. 500mA max. 200mA max.
; = Shock resistance 30G 50G
| 9 o i . * RCI specification, please refer to page 8-14.
4 il - : .
VU meTu Mounting
*1. For precautions, please refer to page 3-2. D
*2. Order example for special specification, refer to page 0-7.
N <>
P

AW mindman 4-39




MGT* Inside structure & Parts list

i

TWIN-GUIDE CYLINDER

MGTB MGTU MGTK

mindman

———— o9
e ] °e°
o 1
|© ®:/@
— C Lo 69
A
A

M mindman

O 5 O
- 7] + o
© ? ©
Fpt—-———-— b0
0G0l
% e @s @
A -
TR
Material
No. Part name Material Note
1| cylinder . 220, 25: MCMI series
232~263: MCQI2 series
2 | Guide holder Aluminum alloy
3 | Plate Aluminum alloy
B Glice rod Medium carbon steel for MGTB, MGTK, MGTX series
Bearing steel for MGTU series
5 | Piston rod holder Carbon steel
6 | Floating connector Carbon steel
7 | Bolt SCM
8 | Bolt SCM
9 | Bolt SCM
10 | Oiler Copper
” Rod bush Copper for MGTB, MGTK, MGTX series
Linear bearing - for MGTU series
12 | Snap ring Spring steel
13 | Wiper seal NBR
14 | Bolt SCM

4-40



MGTK Dimensions 220, 225

TWIN-GUIDE CYLINDER

MGTK (Qilless bush guide)

2x4-M

)

L1+stroke w

L+stroke

mindman

4-N 2-96""

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

Lok A|A1|B|B1|C|E|E1|F|[F1|{G|H|J|K|L|L1| ™ N

Vv

\'Al w

20 |82|78|38|34|50|68|20|40|26|19|38|85| 5 |85 |88 |M6,(D)11|M5x0.8 thru

58 | 10 | ©5.5,09.5(D)5.4 |06.5,610.5(D)6.5| 65

25 |82|78|38|34|50|68|20|40|26|19|38|85| 5 |85 |89 |M6,(D)11|M5x%0.8 thru

58 | 10 | ©5.5,09.5(D)5.4 |06.5,010.5(D)6.5| 65

Maximum allowable torque moment
Max. allowable load
MGTK 220, 825

L stroke 200
— - 150
Iifififififi,f Y A Z
\\ //
¥ - 100 \\
A/ [}
A I 1 /AN R R
w //W\\ 50 ™~
- \\
Ii,i,i,i,i,i;,,,i,i,i, r
50 100 150 200 250 300 350 400 450
Stroke mm

ﬂWMindman 4-41

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MGT* Dimensions 220, 225

TWIN-GUIDE CYLINDER

mMmindman
MGTB (Brass bush guide)
MGTU (Linear bearing guide)
220, 825
——— Q méﬁ L
S [— t—— o s
325 | \ s
C
u K i 2-V1 4-N 2-g6""
‘ © G
PSR
4-v T@rL
oo ol o o u «
N 1S
56
Oilerx2 J |12 | é1 ‘
L1+stroke W B
L+stroke
\ee A [A1|B[BI|C|E[E1[F|FI|[G|H|[J[K[L[LI] ™ N R|S|u v V1 w
20 |82 (78|38 |34 (100|68|20|40|26|19|38|8.5( 15 [135| 88 [M6,(D)11 |M5x0.8 thru| 58 | 10 | 50 | #5.5,89.5(D)5.4 | 86.5,610.5(D)6.5 | 65
25 |82 (78|38 |34(100/68 |20 (40|26 |19|38|8.5]| 15 (135| 89 |M6,(D)11|M5%0.8 thru| 58 | 10 | 50 | #5.5,09.5(D)5.4 | 6.5,610.5(D)6.5 | 65
Maximum allowable torque moment
Max. allowable load
MGTB / MGTU 220, 925 500
L stroke
400
=0 ] S = woly
,,,,,,, B N I VA I 2l \
/\\\ S 00
Y w ATAN
= [ i S— T 100 B
| | L ~
100 200 300 400 500 600
Stroke mm

M mindman

4-42



MGT* Installation of sensor switch M

TWIN-GUIDE CYLINDER mindman

Installation of sensor switch @20, 25
Sensor switch: RCM
Sensor switch band: BM**

Cod
fweiny A | B c D E MGTB I

20 22 41 10 16 28

25 25 44 10 16 28 MGTU I

AR 4] ==l e T
FINAS o, o
N

_1_117 ,‘,
=R

ic
™7 - . T = F’ > :_
B colPeer

Installation of sensor switch 232~263
Sensor switch: RCI

MGTB |1 MGTU | MGTX ||

Watchmakers

Watchmakers screw screw driver S

driver

Set screw

Sensor switch N

Set screw

Sensor switch
RCI

M mindman 4-43

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MGT* Dimensions 232 V

TWIN-GUIDE CYLINDER mindman

MGTB (Brass bush guide) MGTU (Linear bearing guide)
@32 232

I &
‘ | ’QQ o
120
98+stroke . 72
P 1 2x4-M6x1.0 12dp 4-96.5,010.5(dp)6.5 .
4-M6x1.0 12dp \ r—ﬁ» 206
wy e u
e —— B o
T A
&
| -
R | < I ™M | o2 < v
77 H‘}‘EF I Qo N o
1 @)
S '
o [ 1 N ] I
Oilerx2 | 8
325 15 50 4-M6%1.0
67 | 14 2-09,614(dp)5
179+stroke
Maximum allowable torque moment
Max. allowable load
MGTB / MGTU @32 600
L stroke 500
€
_ B E 400
:777 7777777777 - —77 I T 300 \
\ |/ 2 \
N/ o \
7777777777 I R N VA R N & 200 -
w Jwh 100
1——— —————————— — E* ——————— —-L ~L
— - 100 200 300 400 500 600 700

Load N

ﬂWMindman 4-44



MGT* Dimensions 240

i

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

TWIN-GUIDE CYLINDER mMmindman
MGTB (Brass bush guide)
MGTU (Linear bearing guide)
240
! oo o0
i |
i S $O
‘ 135 |
109+stroke 76
3x4-g6"" - 4.5 2x4-MB*1.0 12dp 4-06.5,010.5(D)6.5
4-M6x1.0 12dp \ r——» 2-96""
\i\ \i\ T ; ; ;
e U1 —t—
7777777777777777 H; f,%,i,i,i 1 _ 7\ @ 1@"\/
-0 {11
& & e g @ &
LT T 17 o 9 o N~ w© o o | @
’7’7”,@’,* ’’’’’’’’’’’ ”f@’ 1 I I I = ’TL*@’JF:"‘ © ® =
‘ ‘ O & @ o
U Q s
‘HA:F -/"\\ | l%\-
J —— g | ——" ¥ Ee
I Ll T T T
Mﬂ L#J 4-M6x1.0
38 15 56
77 | 14 2-09,014(D)5
193+stroke
Maximum allowable torque moment
Max. allowable load
MGTB / MGTU @40 600 \
L stroke 500 \
_ . £ 400 \
= — e E \
\\\ /// o 300 \\
fffffff St E N
/ \\\ n 200 A
YW /W \\
E 77777777 A L 100 \\
T~~~
\\\

100 200 300 400 500 600 700 800 900

Load

ﬂWMindman 4-45

N

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MGT* Dimensions 250, 263

TWIN-GUIDE CYLINDER mindman
MGTB (Brass bush guide)
MGTU (Linear bearing guide)
250, 263
r %% 60
-4 - +— 11— 14w o
i i
B OO O
C
L1+stroke w
3x4-06"" J 2x4-M8x1.25(D)14 4-v
4-N G
o 1o —
] WYgPe ] A @,ﬁ/\
Sl L e ANY)) AN
T i i —
‘ o ©
© & \ lﬁj § i g
***"i@i* ************ ”t@i X 115~ < @ Ffa- <
L 1 2%
| T N
B o g P T 7 @ ey
9 i Faﬂ N N
15l T
otere o E ] T —F
U ! K B
L+stroke
oo |A|A|B|B1|C|E|F|[G|H|J|K|L]|L N R|S|T]|uU v w
50 141 1135 | 70 | 65 | 150 | 100 |46.5( 23 | 85 [ 7.5 | 19 |216 | 110 | M8%x1.25thru [ 104 | 20 | 20 | 81 29, 214(D)8.5 | 94
63 156 | 150 | 80 | 75 | 150 | 105 | 56.5| 28 |100 | 5 19 | 230 [ 125 | M8x1.25thru| 119 | 20 | 20 | 96 29, 14(D)8.5 | 94
Maximum allowable torque moment
Max. allowable load 600 \\
MGTB / MGTU 250, 263 - \
L stroke \\
g 400 \
— . £ A\
= JHee—— \ o63
B T o 300 \<
\\\ // 5 "?"50 \
7777777 11T TTAl 7/\"7 o 200 \
w /\N\ \\
| / \ \\
=g [ = ~—
100 200 300 400 500 600 700 800 900
Load N

M mindman

4-46



MGTX Dimensions 232

TWIN-GUIDE CYLINDER

[WteiE @l (Flange type)

mindman

232
98+stroke 15 55 1066 4-96.5,610.5(D)6.5
= D1
i ! i 4-M6x1.0
4 ¥ I - /"\ I%\
773‘_-- W N
{‘3; é g 2-06"
% ffffffffffffff @ —iX —f %8s ﬁ}@@/ 5% ¢ 8
I
‘}--- /’L\\ I?‘JR\
o | = | e
—
|
- OO
255 15 ‘ 325 ‘
135.5+stroke 45
50
Maximum allowable torque moment
Max. allowable load
MGTX @32
L stroke 250
200
— — > \\
E”* —————————— H1+———- —-+ 150N
] \ / \\
\ |/ - ~N
v/ 8 100
,,,,,,,,, N I A B a
A 50 T~ -
w FATAY —
Ei 7777777777 :; 777777 —1] 50 100 150 200 250 300 350 400 450
Stroke mm
M mindman 4-47

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MGTX Dimensions 240~263

TWIN-GUIDE CYLINDER mindman
MGTX (Flange type)
240~363
L1+stroke K w 4-gP
4-V
S -
D ™
B I I I . - 1"\\ _ /%’!\/
= NP NP
‘ : g _4-96"
® © s ] &
. @f ffffffffffffff f@ ——t © 3 > %@%w wow T <
|
== /'J\\ ‘ /?Jl\\\
o] | E—— 1 &= e ®
]
|
g — **ﬁ{b
J T _F
L+stroke B1
B
ook |A|A1|B|B1|E|F|G|H|J|K|[L]|L N P|R|(S|T|U ' w
40 |[160(115| 55| 50 | 84|38 | 19 [140| 32 | 15 | 148|109 | M6x1.0thru |09 | 87| 16 | 15 | 115| 26.5, 810.5(D)6.5 | 61
50 |180(135| 70 | 65 |100 |46.5| 23 [160 | 36 | 20 | 170| 110 | M8x1.25 thru | @9 | 104 | 20 | 20 | 136| @9, ©14(D)8.5 74
63 |195|150| 80 | 75 |105|56.5| 28 [175| 36 | 20 | 170| 125| M8x1.25 thru | @9 | 119 | 20 | 20 | 151| @9, ©14(D)8.5 74
Maximum allowable torque moment
Max. allowable load
MGTX 940~063
300
L stroke 250
_ B 200 250,063
=g [ S e ;
] 40
N L N P
v/ U150 AN
,,,,,,, S N I /5 S U D A \\\
//\\ -
» /w 100 \\
| / A I~ ~
= [ — =t =
- - 50 ——
50 100 150 200 250 300 350 400 450
Stroke mm

M mindman

4-48



7 Standard cylinder _ Compact cylinder

Mini cylinder

MGT* Rear flange coupling 220, 225

>
N

mindman

GUIDE CYLINDER

TWIN

|
[ainink il (ninieieieeiiitet b
- 7 i
[ I J
T
_1|L||,|L||me | |L|||"
o YT e
1 | 1 } Y 1
“ e “
1 @ 1 1 1
1 —Jll_l_Nw_Lll 1
1
P R !

8+stroke

12
[
[T
HE

Wi
i
-

31 19
%,______‘______ﬁ
m
e
i i
—on

MGTK

220, 825

Guide cylinder

Table

Rodless cylinder

Stopper cylinder

Auxiliary Equipment

8+stroke

|
R

19
|
.
|
@%

31
12
-4'

©
o]

MGTU
220, 825

MGTB

[
~

2 Clamps screws are included in the supply

Building material: aluminum alloy

Maximum allowable torque moment

Max. allowable load
MGTB / MGTU

(2]
4
0 =
e S(E
5 —_
© o~ v 23
Py 2(2|S
X 2| o
© o =
wn - =
@ I
0 2
P
3
w0
0 < k= =
/ s £ o s
o < [ 2In|w
I =
s = 9|8|3
o
v o ‘0 -
Rl ©
w (1]
N o =2
/ 3 2
c
o =
~ £
o
| ~ 0
X T8 & -|8l8
S ) S12]2
N / [=} 0 X S|ee
NN g . S 3
- <
N Z 2
N\ - o
/ P
NI V/ 2
L | 1 A
(] o
S 8 8 8 8 8 g o|3|5
© [re) < 15 139 - 5 =[S+~
° wuw ENeS ‘® A
©
w T om
w
IS
E reeed
® N et
= == gl =
=) e S
o r_J._f---E--, “¥ e, w0 olw
2 b TTeprd N i Bl RYel
Q 1 | (O]
C X Vo ! T o o |22
5 8 S i x 3°|°
[0} k= s [ <) )]
£ 4 @ 1 I y =
2 i i _\__ A G
£9 H 7 “ ® E
o = 1 [
= T | 173
w < 1 | JIEH | =
= 1 1 = o
»n 8 7 s =
€ 7 | 7 m =l _m
29 , | , S ol3|e
» T 7 , 7 =|3|R
oD | | | 2 o|o
=R 1 g
3¥ , ! , o
5o | 7 | -
c © | [ | N
S 2 | o
= © 7 7 — Qo .
£o) o|wn
%b , ! ; Q um NN
= 0 7 [=
€ C | |
£ £ |

4-49

M mindman



M

mindman

0.100
0.159
0.240
0.250

MGTX (Brass bush guide)

1.274
2.082
3.440
4.221

0.100
0.159
0.240
0.250

MGTU (Linear bushing guide)
4-50

1.918
3.113
5.162
6.390

0.100
0.159
0.240
0.250

MGT* Rear flange coupling 232~263
TWIN-GUIDE CYLINDER

MGTX | ERZRTR)

MGTB (Brass bush guide)

2.060
3.423
5.584

6.816

(2]
X
£ |e| T
S|Ef ]
0
............. T R | + Py
| 7 i T | Lo = m
I I I Q.
I 1 1 1 °
....... AU S S U I £
! YT S S Sty I T AEIII, » n
a ! 7 ! | 7 s g 7 | [0)
--.«wammﬂ-- ot ! , PhmrRzzAT Y ! ! <
>
P g | Es
E 1 | 1 1 1 =TI 1 1 © O -
A N N R T £ W R T 5 =3t
|||||||||| 1 1 - x, creSThTTETTT T + - S 3 ©
- |---r--L--J-“.." ._nuummw*-*_m..v m W m A.;_w-wmmwhm 2 m MA P
,+ it g | L e ES 2
L el it ait | il s Tl Tt s Dt et - < Bt et sttt L =
i S A U B 4
1 “I” 1 7N\ 1 1 o 1) B
H 8 2 ol
| 58
J T @
_ g2
o 2 £
£ m =
o= 0
£ R °
o N o
3 $
b =
n
Q
X
o -
fa) @ =
é =
3
2
7
©
om
™
(o)
Q
1
& E
Q
0
(e iyl F- EIES N
i i (1)
-O-fFH —+——FFto SRIMEIE 2
1 | | | 1 0w m
i | N O =B o
T [ - T [ - - [
] ]
» | L MBEEE
i I N B R i o)
“r@ = @k“ 2 SRR £
R e e e ety EL r- A
O >
- o
o = o|e|g|g]g]w g
N 2)
N d | N || ﬂ_ ‘0
mi~fololo| ©
. m g o @
- <|8/2|3(3|2 -
v o v il R K0 0 R —
= 5 X Ol o
o0 [~ 9
S 28|82 o sa
S8 = W 2=
x

32
40
50
63

M mindman



MCGD series

TWIN-GUIDE SLIDE CYLINDER

_31

L I
- «|

('

Order example

dbi)

"~ '] e

1 L: U Uyl

MCGD —03—-12—-50—[1

MODEL

]

TUBE I.D. STROKE

PORT THREAD
Blank: M5x0.8
(for 12,016)
TYPE OF BEARING Blank: Rc thread
- G: G thread
Code Type of bearing NPT: NPT thread
03 | Slide bush (for 220~232)

23 | Linear bearing

Installation of sensor switch

Watchmakers
screw driver

Set screw D

M mindman

Sensor switch

~~ RDEP

Features

mindman

e Can be used as plate slide type or body slide type.

e The air cylinder and guide

share a compact design which

enables the cylinder to work smoothly along its stroke.
e The cylinder is extremely rigid and strong.

e Flush fitting sensor available.
e Magnetic as standard.

Specification
Model MCGD
Model
(Stop type view)

Acting type Double acting
Tube 1.D.(mm) 12,16 20,25,32
Port size M5x0.8 Rc1/8
Medium Air
Operating pressure range 0.1~1 MPa
Proof pressure 1.5 MPa

Ambient temperature

-5~+60°C (No freezing)

Cushion

With rubber cushion pad

Available speed range

50~500 mm/sec

Lubrication

Not required

Sensor switch (*)

RCE, RCE1, RDEP

* RCE, RCE1, RDEP specification, please refer to page 8-12,13,18.

Table for standard stroke
Series variety | Tube Stroke (mm)
(Bearing type) | I.D. | 39 | 50 | 75 |100|125|150(175|200 | 250 | 300
012
216
oo [
225
232
212
216
(Linear bearing) 22
025
032

* Stroke out of specification is also available.
* Please consult us if stroke out of specification.

4-51

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGD Dpeflection of guide rod by center loading 212~232

TWIN-GUIDE SLIDE CYLINDER

Deflection of guide rod by center
loading (Reference)

Body Fixed

When center loading is exerted
to the center of the plate.

Workpiece

@ - - -
Deflection width
Unit: mm

Tube . Stroke Deflection width

Bearing type
1.D. Load (kgf) 50 100 | 150 | 200
212 Slide bush 0.5 0.09 | 0.22 — —

Linear bearing 0.3 0.08 0.3 — —
216 Slide bush 0.5 0.03 0.1 0.25 —

Linear bearing 0.5 0.09 | 0.22 0.5 =
220 Slide bush 0.8 0.03 | 0.09 | 0.18 =

Linear bearing 0.5 0.03 0.1 0.25 —
225 Slide bush 1 0.03 | 0.09 | 0.16 =

Linear bearing 0.8 0.03 | 0.09 [ 0.18 —
232 Slide bush 2.9 0.02 | 0.05 0.1 0.15

Linear bearing 1 0.03 | 0.09 | 0.16 | 0.25
Plate Fixed

When center loading is exerted to the center of the Body.

Workpiece

g Deflection width
Unit: mm
Tube . Stroke Deflection width
ID. Bearing type
Load (kgf) 50 100 150 200
12 Slide bush 3 0.06 | 0.08 — —
g Linear bearing 1 005 | 007 | = | —
16 Slide bush 4 0.06 | 0.08 | 0.15 —
2 Linear bearing 8 0.06 | 0.08 = =
20 Slide bush 5 0.05 | 0.06 | 0.12 =
2 Linear bearing 4 0.06 | 0.08 | 0.15 =
25 Slide bush 6 0.04 | 0.05 | 0.07 —
g Linear bearing 5 0.05 | 0.06 | 0.12 -
32 Slide bush 9 0.02 | 0.03 | 0.06 | 0.07
2 Linear bearing 6 0.04 | 0.05 [ 0.07 | 0.08

M mindman

4-52

mindman

Plate mounting methods

Mounting from the upper side

Fixing the Body
The plate moves.

M

Operating direction
of the plate

=

Mounting from the bottom side Operating direction

of the plate

Fixing the Plate

The body moves.

Mounting from the upper side

Operating direction
of the body




MCGD Allowable moment 212~232

TWIN-GUIDE SLIDE CYLINDER

Maximum allowable moment

Please operate within the
maximum allowable moment.

Anti-roll accuracy

RS

":‘ ‘ ;,ﬂ(
(oo

e The values are the deflection
angle against the piston rod.

e Exclusive factor of the guide
rods' deflection.

M mindman

mindman

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

M, M,
| o {
|
— o9 O
l (@] ; (@)
7 7,
M,
77 wzy
O ‘ @) Z Tube I.D. | Allowable moment (M,)
| 7
A
o o ‘ o o Z 212 0.15
| 7 216 0.55
1
, 2 220 0.8
o T O |o '
o © | © o Z 225 1.02
7
7
e) ‘ 0) f 232 2.7
7. 7
—— Slide bush
— — = Linear bearing
20
_ == 832
10 . _ ,/
3 =
Z 5 ——= —= 225
g * o] [ Jeo
g s = T 16
S 3 = =7 e
g » S - // —
- = =
S -
o =
i 1
@
§ 012
g
<~ _-
0.3 =
0.2
0.1
2530 50 75 100 125 150 175 200 225 250 275
Stroke (mm)
. Anti-roll accuracy
Tube I.D. Bearing type 0
212 Slide bush +0.09°
Linear bearing +0.06°
216 Slide bush +0.08°
Linear bearing +0.06°
Slide bush +0.08°
= Linear bearing +0.03°
225 Slide bush +0.07°
Linear bearing +0.05°
232 Slide bush +0.07°
Linear bearing +0.03°

4-53

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCGD Inside structure & Parts list
TWIN-GUIDE SLIDE CYLINDER

mindman

MCGD-03

%&?ﬂ???f W

MCGD-23

'&KW?WP

i
NI P e il P
@(  ——— T T @/ e ———— T T
%j P S — @@ o oo o @E%
% & & —1 | U s e s+ |
Order example of
Material repair kits
No. Part name Material Note Q'y Eﬁgiglgﬁ 'I;uge Repair kits
1 Body Aluminum alloy 1 212 | PS-MCGD-12
2 Cover ring NBR 2 ([ 216 PS-MCGD-16
8 Rod cover Aluminum alloy 2 220 PS-MCGD-20
4 Rod packing NBR 2 ([ 225 PS-MCGD-25
5 | Cushion NBR 2 [ ] 232 | PS-MCGD-32
6 Piston rod #1 Carbon steel 1
7 Piston rod #2 Carbon steel 1
8 Piston Aluminum alloy 1
9 Magnet ring Magnet material 1
10 | Magnet ring holder Stainless steel 1
11| Piston packing NBR 1 [ J
12 | Piston gasket NBR 1 [ J
13 | Snapring Spring steel 2
14 | Plate Aluminum alloy 2
™ Guide rod Carbon steel for 03 type 2
Special steel for 23 type 2
Slide bush Bearing alloy for 03 type 4
1 Linear beraing — for 23 type 4
17 | Bolt for piston rod Carbon steel 2
18 | Bolt for guide rod Carbon steel 4
19| Setscrew Carbon steel 2
20 | Spacer Aluminum alloy 2
21| O-ring NBR 2
22 | Snapring Spring steel for 23 type 4
M mindman 4-54



MCGD Dimensions 212~32

TWIN-GUIDE SLIDE CYLINDER

mindman

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

T T 4-MM
4-M oXX 5% L2+1/2stroke
N depth X1
|
© & 3
N
wn I —
8 E
O] R === =F= ol © w
& ]
Q e ———————————— p—
@ © ©
L == B e P
o D, |©
B1 ‘ B2 - AA S|E
K
B H1 N1 N1 H1 =z
H_P L1+stroke P+stroke H il
L+2xstroke
AA
4-gS thru
4-9S1 sink
— z
N |
- LGP P e e e e e e e e e e —p=——==9p d - ! o
@ @ R
AN /,@\ /{é\ Ny | N
e \/ \/ b -
H—————————————- —F 3
Back side T T T T ﬁ 2XX 3%
- - - —F O |
i \
o s
(D) 1 -
+ { >
| |
|
T
|
‘ T ‘ U 2x2-Y 9%
Tl:f::’,eDABB1BZCDD1D2E F |F1{F2| G |G1|G2|H [H1| K | L |L1|L2 M MM N1 Q Q1|P| R
D, MCGD-03|MCGD-23]
12 | 58(26 13|13 | 58| 26| 12| 14|M4|48| 14| 50|23 (28 |40|10| 5 |41.5| 55| 31| 15.5| M4x7dp | M5x10dp (17 | @8 |26 |e6 |2 | M5
16 | 64|30 | 15| 15| 64| 30| 14| 16|M5(52 |16 | 54|24 [32|50|12| 6 |46 | 62|34 |17 | M5x7dp | M5x10dp (17 | 210 (28 (@8 | 2| M5
20 [ 85|36|19(17| 85/36|16|20|M5|60 |18 | 64|28 |37 |70|12| 6 |55 |66|38|19 | M5x7dp | M6x12dp |20.5| 812 |210 |210]| 2 |Rc1/8
25 | 96|42 |21 (21| 96| 42|20|22|M6|70|26| 76|34 |44 |84 |12| 6 |65 |67|3919.5| M6x9dp | M6x12dp |19.5| 816 |@13 |@12| 2 |Rc1/8
32 (16|51 | 25|26 (116| 51|24 | 27 |M8| 96 | 30 [100| 42 |56 |76 | 14| 7 |80 | 68| 36|18 | M8x11dp | M8x16dp |20 | 220 |@16 |@16| 2 |Rc1/8
Lo l's s1 T|TH|{U|W w1 X |XX|X1|X2| Y z |z
12 |e4.3| @8x4.5dp |11 [12 5 |@4.5| @8x4.5dp 85| g4 | 6| 3 | @4x5dp 6| 4
16 |@4.3| @8x4.5dp (11 [13 | 6 |@4.5| @8x4.5dp |10 | @5| 6| 3 | @5x5dp 715
20 |85.2| 29.5%5.5dp [13.5(14 | 6 |05.5| ©9.5%5.5dp |11.5| @6 | 8 | 4 | @6x8dp 8|6
25 |85.2| 29.5%55dp |11 |12 | 6 |05.5| ©9.5%5.5dp |13.5| @6 | 8 | 4 | @6x8dp 8| 6
32 |26.8| 211.5x6.5dp [11 [16.5| 7 [26.6| 211x6.5dp [16 | @8 | 12| 6 | @8x12dp | 10| 8
ﬂWMlndman 4-55

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MC G3 series Lift / Turntable

TRIPLE-GUIDE CYLINDER mindman

Features

e Three guide rods equally spaced enable consistent movement
even when uneven load is applied.

e Increases productivity on conveyor lines.

e When connected to a rotary actuator the unit can be used as
an auto turn lifter.

e Magnetic as standard.

Specification
Model
[
= Model
(Stop type view)
( Lift type ) ( Turntable type )
Acting type Double acting
Tube 1.D.(mm) 63 80
Port size Rc1/4 Rc3/8
Standard stroke 30, 50, 75, 100 mm
Medium Air
Operating pressure range 0.1~1 MPa
Proof pressure 1.5 MPa
Ambient temperature -5~+60°C (No freezing)
Cushion With rubber cushion pad
Available speed range 50~500 mm/sec
Order example Lubrication Not required
MCG3 _ 63 _ 50 _ D _ G Sensor switch (*) RCB, RCE, RCE1, RDEP

* RCB, RCE, RCE1, RDEP specification, please refer to page 8-10,12,13,18.

| o

MODEL STROKE (*)  PORT THREAD
Stroke out of Blank: Re thread
TUBE I.D. specification is G: G thread
63 also available. NPT: NPT thread

80 (Only for circle table lift type)

* APPLICATION / TYPE OF BEARING
Code Purpose / Type of bearing Picture
D |Circle table lift/ Slide bush @
B | Circle table lift / Linear bearing ]

D90 | Turntable / Angle 90°/ Slide bush

B90 | Turntable / Angle 90°/ Linear bearing @
D180 | Turntable / Angle 180°/ Slide bush g e

B180 | Turntable / Angle 180°/ Linear bearing

QD | Quad table lift / Slide bush 0

QB | Quad table lift / Linear bearing il

M mindman 4-56



MC G3 Lift / Turntable 263, 280

TRIPLE-GUIDE CYLINDER

Allowable eccentric load
(at supply pressure 0.5MPa)

L(mm)

Shows the dynamic allowable value
at L(mm) eccentricity from the
center of the guide rod.

MCG3-D/D90/D180
—~ 2500
=S
e
@ 2000
ke]
o
‘S 1500 80
§ 1000 /ﬂ
R N
2 s00 SS
© —
2
5
2 0 100 200 300
Eccentric throw (mm)

mindman
MCG3-B/B90/B180
—~ 2500
z
el
@ 2000
o
(]
E 1500 280
c | —
§ 1000 | — 263
5N
2 500
§ S~
5
z 0 100 200 300
Eccentric throw (mm)

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

Allowable rotating torque

Unit: N.m
Stroke (mm)
Tube I.D. Bearing type
30 50 100
Slide bush 132 | 127 | 7.6
263 ; .
Linear bearing 135 | 12.7 8.8
Shows the dynamic allowable value,
when actuating the cylinder with a
rotating torque T at the guide rods' top.
Anti-roll accuracy
Anti-roll accuracy
Tube I.D. Bearing type 5
Slide bush +0.07°
263 - -
Linear bearing +0.03°
The values are the deflection angle
against the piston rod.
M mindman 4-57

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCG3 Inside structure & Parts list

TRIPLE-GUIDE CYLINDER

—®
@)

(19)

3)

ZE
HANNVAR

®

mindman

Order example of

Material repair kits

No. Part name Material Qy Eﬁgiglgﬁ 'I;ulge Repair kits
1 Body Aluminum alloy 1 263 PS-MCG3-63
2 Cover ring NBR 2 (] 280 PS-MCG3-80
3 Rod cover Aluminum alloy 1

4 Rod bush Bearing alloy 1

5 Rod packing NBR 1 [ J

6 Rod cushion NBR 1 [

7 Piston rod Carbon steel 1

8 Piston Aluminum alloy 1

9 Piston for magnet ring Aluminum alloy 1

10 Magnet ring Magnet material 1

11 Piston packing NBR 1 [ J

12 Wear ring Resin 1

13 Piston gasket NBR 1 o

14 Bolt for piston Carbon steel 1

15 Head cushion NBR 1 [ J

16 End cover Aluminum alloy 1

17 Snap ring Spring steel 2

18 Plate Carbon steel 1

19 Guide rod Carbon steel 3

20 Guide rod bush Bearing alloy 6

21 Bolt for piston rod Carbon steel 1

22 Bolt for guide rod Carbon steel 3

M mindman

4-58




MCG3 Dimensions — Lift / Turntable 263, 280
TRIPLE-GUIDE CYLINDER mindman

MCG3-D/B || MCG3-D90/B90/D180/B180 | [k

(Lift type) (Turntable type)

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |

MCG3-D/B

e | B E F G|H|J|[K|L|M N P PP | Q R W (wW1|w2
63 | 20 |P.c.D180| M10x1.5|205] 18 [17.5| 16 |54.8] 170 |P.C.D132 |[P.C.D90 |Rc1/4| 25 [M10x1.5x23depth| M8x1.25 | 110 | 100
80 | 25 [P.c.D190| M10x1.5[ 220 18 [22 | 22 [61.2] 190 [P.C.D150 [P.C.D106[Re3/8| 32 [M10x1.5x23depth| — [ — [ —
g S v N B MCG3-D90/B90/D180/B180

ID. Stroke (mm)

3050 75100] 30 [ 50 | 75 [100[ 30 [ 50 [ 75 [100 Tube L [ L2 [ s

63 |108]128]153[178] 90 [110[135]160] 85 [ 105[130[155 0. |55 Tio0 3s;r°kseém1"30 55 T50 00

80 |[118]138]163]188]100]120[145]170] 95 [115] 140165 63 T125[125] 195108 128|178 | 85 [105]155

Tube L4 oD Tube L4 | oD |

1.D. [MCG3-D | MCG3-B | MCG3-D | MCG3-B I-D. |p90 / D180[B20 / B180[D90 / D180[B90 / B180|

63 0 26 025 | 016 63 0 | 26 | e25 | o16 |

80 0 25 228 | 20

M mindman 4-59




MCG3 Dimensions — Lift & Installation of sensor switch 263

i

TRIPLE-GUIDE CYLINDER

mindman

MCG3-QD/QB

(Lift type)
4-M8x1.25
|
P
[@'\L’\’AA
3
g LT
86 e
| ~
J
lo
NF
& | &
220 e
R -
.’:7/}3
2-Rc1/4 ol D

2170

6-M10x1.5x23depth

2

MCG3-QD/QB

Tube Stroke

fpe | Shoke |14 L2 L3
30 100 90 85
50 120 110 105

63
75 145 135 130
100 170 160 155

Tube L4 2D

ID- " |mce3-ap|McGe3-aB|MCcG3-aD |MCG3-aB

63 0 26 225 216

M mindman

4-60

Installation of sensor switch

RCE/RCE1 /
Watchmakers screw driver




MCDA series

DUAL-ROD CYLINDER

Order example

MCDA —03 — 12 — 50 — [

MODEL TUBE I.D.

TYPE OF BEARING
03 | Slide bush

23 | Linear bearing

M mindman

STROKE

PORT THREAD
Blank: M5x0.8
(for 26~220)
Blank: Rc thread
G: G thread

NPT: NPT thread
(for 225, 232)

mindman

Features

e Compact in width and length with precision guidance.

e High lateral loads can be applied on both slide and linear
bearing unit.

e Magnetic as standard.

Specification
Model MCDA

Acting type Double acting

Tube 1.D.(mm) 6 | 12 | 16 | 20 | 25 | 32
Port size M5x0.8 Rc1/8
Medium Air

Operating Max. 0.7

pressure range

(MPa) Min.| 0.15 01 | 0.05

Proof pressure 1 MPa

Ambient temperature -5~+60°C (No freezing)

Cushion With rubber cushion pad (both side)
Available speed range  [50~300 50~500 mm/sec

L ez e (If lubrication is use’;l,c;tg)gsctllﬂgﬁgoil NO1 ISO VG32)
Sensor switch (*1) RCB(*2), RCE, RCE1, RDEP

*1. RCB, RCE, RCE1, RDEP specification, please refer to page 8-10,12,13,18.
*2. RCB only for tube 1.D. 12~32.

Table for standard stroke

Tube I.D. Stroke (mm)
26 10,20,30,40,50
212 10,15,20,25,30,35,40,45,50,60,70,75,80,90,100,

110,120,125,150
10,15,20,25,30,35,40,45,50,60,70,75,80,90,100,

gt 110,120,125,150

220

e 10,15,20,25,30,35,40,45,50,60,70,
75.80.90.100,110,120,125.150,175,200

232

e Stroke out of specification is also available.
e Please consult us if stroke out of specification.
e |t is possible to adjust length of basic stroke by 0~5mm.

Cylinder weight  unitg

Basic weight | Stroke 5mm
Model | ™" Mcpa MCDA
Tube = E— ﬁ; i
I.D. I i
26 85.8 7.5
212 150 8
216 222 13
220 376 18
225 557 27
232 1105 42

4-61

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewd!nb3me!|!xn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCDA Capacity & Installation of sensor switch ¢6~232

DUAL-ROD CYLINDER mindman
Anti-roll accuracy Installation of sensor switch
Sensor switch: RCB, RCE, RCE1, RDEP
»/»- ‘‘‘‘ = !L =] ; % 0 Sensor switch
Fo=—~@4—, [mcoans o RCB
“““ e MCDA-23 ; @% L DE

Maximum load mass : :
H © ©

When the cylinder mounted as shown in the diagrams below, the
maximum load mass W should not exceed the values illustrated

W
FdaVak'
Lﬁ&J A

in the graph. o
- - - MCDA-23
—— MCDA-03 £
M
X
_ ' O
2 20 \:\ @
= . R <
@ \ & ®
@ \ bs @ L
M g =
T AV G
<_CB> S N\ L 3 N
1.0 SRS 3 Sensor switch
§ NN 3032 Senso
g N ~\ ~o ~\\ ~~. ] |
< I~ ~ N~ S ——g25 <_¢_, ~ . _
© 05 ~ N T e i Y T ——f=—=
= S e bl P, —— 020
=== == |
06 ======t= o1z 121
0 20 40 60 80 100 1 @ @ Sensor switch
Cylinder storke (mm) L RCE,RCE1
Mounting methods o —

Top mounting "em| A | B | C|D|E
12 | 265 175| 85 | 16 | 22
16 | 285|185 | 85 | 16 | 22
20 | 335 21 85 | 16 | 22

- Air supply port 25 | 385|235| 85 | 16 22

Bottom mounting }* - n @, &= 32 | 465 |275| 85 | 16 | 22

11 |

p) | | I

Side mounting 1 *'*'*@'*'*@'*"

Work ﬁ
Work can be mounted N

on three faces of the EEE*’\X’*%*’*’*?*’@’J’L@

rod square plate.

Plate

M mindman 4-62



MCDA-O3 Inside structure & Parts list

DUAL-ROD CYLINDER

212~320

225, 832

mindman

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

Material

No. % 6 |12|16[20|25[32| Note Qy E:’gi‘;gﬁ
1 | Body Aluminum alloy 1
2 | Plate Aluminum alloy 1
3 | Rod cover Aluminum alloy 2
4 | End cover Aluminum alloy 2
5 | Piston Aluminum alloy 2
6 | Piston rod #1 Stainless steel (@) 1
7 | Piston rod #2 Stainless steel (*) 1
8 | Coverring NBR 6 [ J
9 | Piston packing NBR 2 [ J

10 | Rod packing NBR 2 [ )

11 | Rod cushion NBR 2 (]

12 | Magnet holder Stainless steel 2

13 | Magnet ring Magnet material 2

14 | Snap ring Spring steel 4

15 | Screw Stainless steel 1

16 | Set screw Stainless steel 1

17 | Cushion screw Stainless steel 1 Orde_r e)_(ample of
18 | Nut Carbon steel 1 repair kits

19 | Rod bush Bearing alloy 4 -
20 | Plug (set screw) Carbon steel 2 1B | Repairkits
21 | Plug ring NBR 2 () 26 PS-MCDA-6
22 | O-ring NBR only 20 2 () 212 PS-MCDA-12
23 | Bumper PU 1 216 | PS-MCDA-16
24 | Rod cover washer Stainless steel only 26 2 220 PS-MCDA-20
25 | Plug gasket Stainless steel only g6 1 225 | PS-MCDA-25
26 | Spaced ring Aluminium only @6 2 232 PS-MCDA-32

* Carbon steel

M mindman 4-63

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCDA-23 Inside structure & Parts list

DUAL-ROD CYLINDER

17) 24)(9)25)(3)(7)(4) 1327)22)21)26)(5 X16)

212~320

©

mindman

&

18)(2)(8 24’9%{ @%
N
11“.>-@< I @7@:”‘*“

iR —=—=—p |

VoINS

PN

Material

No. J::i;n'ie 6 |12|16[20|25[32| Note Qy E:’gﬂglgﬁ

1 | Body Aluminum alloy 1

2 | Plate Aluminum alloy 1

3 | Rod cover #1 Aluminum alloy 2

4 | Rod cover #2 Aluminum alloy 2

5 [ End cover Aluminum alloy 2

6 | Piston Aluminum alloy 2

7 | Slide bush - 2

8 | Piston rod #1 Special steel 1

9 | Piston rod #2 Special steel 1

10 | Cover ring NBR 6 o

11 | Piston packing NBR 2 [ ]

12 | Rod packing NBR 2 [}

13 | Rod cushion NBR 2 )

14 | Magnet holder Stainless steel 2

15 | Magnet ring Magnet material 2

16 | Snap ring Spring steel 4

17 | Screw Stainless steel 1

18 | Set screw Stainless steel 1 Order example of
19 | Cushion screw Stainless steel 1 repair Kits

20 | Nut Carbon steel 1

21 | Plug(set screw) Carbon steel 2 'I;uge e
22 | Plug ring NBR 2 ) 26 PS-MCDA-6
23 | O-ring NBR only 220 2 () 212 | PS-MCDA-12
24 | Bumper PU 1 216 PS-MCDA-16
25 | Rod cover washer Stainless steel only g6 2 220 PS-MCDA-20
26 | Plug gasket Stainless steel only @6 1 225 PS-MCDA-25
27 | Spaced ring Aluminum only @6 2 232 PS-MCDA-32

M mindman 4-64




MCDA Dimensions 26~232

DUAL-ROD CYLINDER mindman
B ZZ+stroke
D 1 J_ K S+stroke
‘ E I L z
e s T
@ D | M fm
. N
<o +-——1 & G . 7777@77@77 %/ﬁ T
©
@ I 7
X e
I
F N W Tube I.D. 16
No groove on both sides
- L A v
212, 216 \
T Y
" A
E
RA R __|RB
| L z i
220~332 |
(e] 4
o0 ® e Tl
= & \H\ &
‘ RA R B_li‘
26 "
10_,13+stroke \ 5.6
- I
ola |+ o L L e e NP
(7@ @‘T84 R* P09 drond.
- GE:“ ] f ‘ RA R ‘RB‘ Q,u«
A
MCDA-03/ 23
Code F M N R
Tube 1.D. A|BIC/D|E (Thru) G| H I J KL (Both side) (Both side) o Q Qa (Both side) RAIRB| S | T
6 |37]16|35]14| 7 [2-m3x0.5] 28] 16 |2.75| 55| 8|13 |2-06.5x3.3dp*1 |2-M3x0.5thru | 4 | 8 6 |4-M5x0.8 |225|11] 45| -
12 (46|18 |44 |16 | 8 | 2-M4x0.7 | 35(19 |4 8 9|20 |4-96.5%3.3dp 4-M3x0.5%5dp 6 9 10 | 4-M5%x0.8 |30 8|55 | —
16 [58 (20|56 |18 9 | 2-M5x0.8 | 45(25 (5 10 9|30 |4-08x4.4dp 4-M4x0.7x6dp 8 |10 10 | 4-M5x0.8 |38.5| 8| 60 | —
20 |[64]25|62(23(11.5(2-M5x0.8 [ 50]|28 |6 |12 |12(30 [4-09.5%5.3dp 4-M4x0.7x6dp | 10 | 7.75(12.5| 4-M5x0.8 |45 | 8|70 | 9.5
25 [80]30|78]28(14 [2-mex1.0|60(|35|6 [12 [12]30|4-011x6.3dp 4-M5x0.8x8dp |12 | 85 [15 |[4-Rc1/8 |46 | 9| 72 |13
32 |98(38|96|36|18 |[2-M6x1.0| 75|44 |8 16 14| 30 | 4-211x6.3dp 4-M5%0.8x8dp | 16 9 19 | 4-Rc1/8 56 |10| 82 |20
*1. @6- single side.
Cod Z (Stroke 9
=TT o o L) ZZ | *2. 96- stroke ( 10, 20, 30, 40, 50)
Tube 1.0, (Both side) (Thru)  [10,15,20,25 ] 30,35,40,45,50 | 60,70,75,80 | 90,100 [ 110,120,125 150 [ 175,200
6 | 3 | 4-M3x0.5x4.5dp | 2-03.4 10+1/2 stroke *2 58.5
12 3.5 | 4-M3x0.5x4.5dp 2-M4x0.7 30 40 50 60 70 80 - 72
16 5 4-M4x0.7x5dp 2-M5x%0.8 25 35 45 55 65 75 - 79
20 6.5 | 8-M4x0.7x5.5dp 2-M6x%1.0 30 40 60 80 100 94
25 | 9 | 8-M5x0.8x7.5dp | 2-M8x1.25 30 40 60 80 100 | 96
32 | 11.5 | 8-M5x0.8x7.5dp 2-M8x1.25 40 50 70 90 110 (112
M mindman 4-65

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCDB series

DUAL-ROD SLIDE CYLINDER mindman

Features

e Compact in width and length with precision guidance.

e High lateral loads can be applied on both slide and linear
bearing unit.

e Can be used as body or end plate sliding mechanism.

e Can have shock absorbers fitted enabling absorption of high
loads with low noise.

Specification

Model MCDB
Acting type Double acting
Tube 1.D. (mm) 1016 | 20 25,32
Port size M5x0.8 Rc1/8
Medium Air
Min operating pressure 0.15 MPa | 0.1 MPa
Max operating pressure 1 MPa
Proof pressure 1.5 MPa
Table for standard stroke Available Temperature range -5~+60°C (No freezing)
Lubricator Not required
Tube I.D. Stroke (mm)

Available speed range 50~500 mm/sec

210 25,50,75
Cushion Shock absorber

216, 20, 25, 32 25,50,75,100,125,150,175,200
Stroke adjustable range Stand stroke 2mm
Sensor switch RCD (please refer to page 8-11)

Order example
MCDB — 03 — 10 — 50 M — [

‘ ‘ T Installation of sensor switch
Sensor switch: RCD

MODEL TUBE I.D. M: Magnet
B8,
‘ ~ Sensor switch mounting rail
TYPE OF BEARING STROKE PORT THREAD
03: Slide bush (mm) Blank: M5x0.8
(for 210~220) | @ O O @
Blank: R thread (A =
G: G thread ‘ d M=
NPT: NPT thread o | N D D i! = =
(for 625,032) 7S —t —= n qj—”
w "=
o o © &

\ Watchmakers screw driver
Sensor switch
RCD

M mindman 4-66



MCDB Inside structure & Parts list 210, 216, 225

DUAL-ROD SLIDE CYLINDER

216, 825

AN

Y z
7 =
: =
| [=
=g
14 15)( 2

3

HaNS

hlhllhn—ll

Material
No. Part name Material Qly I(Tr?cr;)lilsr:c;lr:?
1 Body Aluminum alloy 1
2 Snap ring #1 Spring steel 4
& Connector Aluminum alloy 2
4 Snap ring #2 Spring steel 4
5 Rod bush Bearing alloy 4
6 Cover gasket NBR 4 [ J
7 Rod packing NBR 4 [ J
8 Rod cover Aluminum alloy 4
9 Absorber — 2
10 Piston rod Carbon steel 2
11 Piston packing NBR 2 [ J
12 Piston gasket NBR 2 [ J
13 Piston Aluminum alloy 2
14 Set screw #1 Carbon steel 4
15 Set screw #2 Carbon steel 2
16 Snap ring #3 Spring steel 4 Order examp|e of
17 Plug #1 Copper 2 repair kits
18 Fitting Steel 2
19|  O-ring for fitting NBR 4 ° 5| Repairkits
20 Plug gasket Plastic 2 210 PS-MCDB-10
21 Set screw #3 Carbon steel 2 216 PS-MCDB-16
22 Plug #2 Copper 2 225 PS-MCDB-25

M mindman

4-67

mindman

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCDB Inside structure & Parts list 220, 232
DUAL-ROD SLIDE CYLINDER mindman

220, 832

sitrzavaid
VRN =

*%“
i
©

Material
No. Part name Material Qy Repair.kits
(inclusion)

1 Body Aluminum alloy 1

2 Snap ring #1 Spring steel 4

& Connector Aluminum alloy 2

4 Snap ring #2 Spring steel 4

5 Rod bush Bearing alloy 4

6 Cover gasket NBR 4 [ J

7 Rod packing NBR 4 [ ]

8 Rod cover Aluminum alloy 4

9 Absorber — 2

10 Piston rod Carbon steel 2

11 Piston packing NBR 2 [ J

12 Piston gasket NBR 2 [ J

13 Piston Aluminum alloy 2

14 Set screw #1 Carbon steel 4

15 Set screw #2 Carbon steel 2

16 Snap ring #3 Spring steel 4

17| Plug# Copper 2 Order example of
18 Fitting Steel 2 re pair kits

19 O-ring for fitting NBR 4 [ J Tube —
20|  Plug gasket Plastic 2 Lo, || RemErs
21 Set screw #3 Carbon steel 2 220 PS-MCDB-20
22 Plug #2 Copper 2 232 PS-MCDB-32

ﬂWMindman 4-68



MCDB-03 Dimensions 210, 816, @25 stroke: 25

DUAL-ROD SLIDE CYLINDER

mindman

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

Max. ZZ
Q
SS S
2x2-N F P
— 2-R
L
o =]
r—i = - )
© Eﬂ:j ) L) R = e o o = @
= -
. j=n=t=]
~ O /& o ©
N ;| L= |
HxH1 depth 4V ‘
Cc2 C1‘
2-R ol
o
al o & ] -o- : @ 4 1
= L w
J Z J K_, _t
F P ‘ N
1 M ™M ] "
© @ |ty |@ -
© © g
== h
] =
CER: ==} S I £ = =
L -
== ‘
Q- o
2x2-H3 4-N1 Max. M1
Unit: mm
e\ |A|B|C|c1|c2|D|E|E1|F|G|G1 G2 Hen|H1|[H2| H3en | 1 | J | K| L M
10 25 48 | 22 | 18 [ 6.5| 25| 19| 6.5|14.5(21 40 | 28 | M4x0.7x8dp 94| 6 3 24x5dp | @4 | 10 [ 9.5| 38 | M8x1.0(MAC-0806-SN)
16 25 62 28| 24|75|55| 25| 9 [18.5|25 53 | 38 | M5x0.8x10dp | @5 | 6 3 25x6dp | @5 | 12 [ 9.5| 38 | M8x1.0(MAC-0806-SN)
25 25 79 13| 32|9 9 34 (16 |19.5/28.5( 67 | 50 | M6x1.0x12dp | @6 | 8 4 26x8dp | 26 | 16 43 | M10x1.0(MAC-1007-SN)
Tube Code
oo [\ Soe_ | M1 N N1 olP|la| R s|ss|T|U v wW|lY|z|zz
10 25 |32.6|@3.3thru, 86.5%x3.2dp|23.2thru, 86.5%x3.3dp| @6 | 25 | 104| M5x0.8 | 27 | 67 | 37 | 52 | M4x0.7x6dp 6 3 94 179.2
16 25 |30.6 |@4.3thru, @8x4.5dp |@4.3thru, @8x4.5dp |@10| 25 | 114 | M5x0.8 | 27 | 75 | 53 | 67 | M5x0.8x10dp | 7 3 (102 |187.2
25 25 |33 |@5.2thru, 9.5x5dp |@5.5thru, 9.5x5.5dp| 12| 25 | 125| Rc1/8 27 | 82 | 67 | 84 | M6%1.0x12dp | 8 - 1109|207
ﬂ‘//ﬂ mindman 4-69

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MOCDB-03 10 stroke: 50~75 / 16, 325 stroke: 50~200

DUAL-ROD SLIDE CYLINDER

mindman

zZ
Q
SS S
F P
2-R
5O
o =
o 7E%7k@ @ O e o- i 777457 @
& +— 1t — 10— =
—1O QO
Lol L |
2x2-N /I 4-v |
HxH1 depth 2R Cc2 C1‘
(@]
w
al o %O S e —
—
|_E1 L W
Max.M1_, _J_ z K _r
[ T . ] e
| | ] 3|8
o =l o] |38 | o ~
O S| T
@ @ — | x
19 & |{
==
o O & %—— = - ——3 :
] B — —| F A
& ©
o Q- S
2x2-G2 2x2-H3 4-N1 2-M . Max. M1
MCDB'03 Unit: mm
Te\c |A|B|C|C1|Cc2|D|E|E1|G |G1 G2 Hen|H1|H2| H3m | 1 | J | K M M1
10 | 50~75 48 | 22 | 18 [ 6.5 25| 19| 6.5(14.5( 40 | 28 M4x0.7x8dp o4 6 3 | @4x5dp | @4 | 10 | 9.5| M8x1.0(MAC-0806-2) 8

16 | 50~200 | 62 | 28 | 24 [ 7.5( 55| 25| 9 [18.5( 53 | 38 | M5x0.8x10dp |@5 | 6 | 3 | @5x6dp | @5 | 12 [ 9.5

M8x1.0(MAC-0806-2)

25| 50~200 | 79 | 35| 32| 9 9 34 |16 |20.5| 67 | 50 | M6x1.0x12dp (@6 | 8 | 4 | @6x8dp | @6 | 16 | -

M10x1.0(MAC-1008-2)

e [\ ode N N1 oO| R |T|u v Wy
10 | 50~75 |@3.3thru, 86.5%3.2dp |@3.2thru, 86.5%x3.3dp | 86 | M5x0.8 | 37 | 52 | M4x0.7x6dp 6 3
16 | 50~200 |@4.3thru, @8x4.5dp |@4.3thru, 88x4.5dp 210| M5x0.8 | 53 | 67 | M5x0.8x10dp 7 3
25 | 50~200 |@5.2thru, 9.5x5dp |@5.5thru, 9.5x5.5dp | 12| Rc1/8 67 | 84 | M6x1.0x12dp 8 -
210 216 @25
s |FlL|P|Q|s|ss|z|zz| (<=~ |F|L|P|Q|S|ss|z|zz| |\ =~|F|L|P|Q|sS|ss|z|zz
50 26 | 63| 40 [ 154| 52| 92 (144|172 50 35 63| 30 | 164 52 (100 (152|188 50 |31 66 | 45| 175 52107 |159 (203
75 26 | 88| 65 (204 77| 117 (194|222 75 |32.5| 88| 60 |214| 77 |125|202 |238 75 |33.5| 91| 65 |225| 77 (132|209 |253
100 |37.5/113 | 75 | 264|102 (150 | 252 | 288 100 ([33.5[116 | 90 | 275(102 (157 [259 [303
125 |42.5/138 | 90 | 314127 (175|302 | 338 125 |46 |141| 90 | 325|127 (182|309 (353
150 |55 |163| 90 | 364152 (200|352 |388 150 |[58.5(166 | 90 | 375|152 (207 [359 (403
175 |67.5/188 | 90 | 414 (177 (225|402 | 438 175 |71 [191| 90 | 425(177 (232 (409 (453
200 |80 |[213| 90 | 464|202 (250|452 |488 200 |83.5/216 | 90 | 475|202 | 257 | 459 | 503
M mindman 4-70




MOCDB-03 220 stroke: 25 / 32 stroke: 25~50

DUAL-ROD SLIDE CYLINDER mindman

Max. ZZ

SS S

2-R

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

|
\
|
|
(LI
‘ "@Z\ém

=
=< i £ =3
/ \ _
. | <
o Q D), f- < 5 —1H E ) @ o § <
= - ; =3
AN o
4v2 Rt S (@ =]
\
LLIT 4V LLIT
2x2-N /” HxH1 depth - c2 c1 | =
‘ =
o
2-V1 s
2R
_ ( 2-M =4
\@ J S =
1 @ o
al o o a = o K
(&]
|_E L E2
J z J K

9|qeL

|

|

|

DO
11—
H1

H2

i
>
r {+}=

8 =
Dl O ¢ - R W S =9
o H = — Eﬂ;} =
— ]
= >
Q| & =
: &
2 a—| o :
2x2-G2 2x2-H3 4-N1 Max. M1
w
—
MCDB'03 Unit: mm -8
Tube Code =
wef\o¢ | A|B|C|C1|C2| D |D1|(D2| E |E1|E2|F |G |G1 G2 Hen|H1[H2| H3m | 1| J [ K | L <
20 25 73 | 33 |275/11 | 45( 29| 9 9| 9.5(20 6 | 27 | 62| 45 | M6x1.0x12dp | @6 8| 4 |26%x8dp | @6 | 14 | 95| 39 *%)_
25 27.5 37 41 =
32 113 | 55 [38.5/13.5 7 40 {10.5| 12 |15 |—— 10 ——105| 84 {M8x1.25%x15dp | @8 | 12 | 6 |@8x12dp | @8 | 20 |14.5 @
50 28 38 65 -
Tube Code
0. | “Stoke M M1 N N1 O(P|Q R S|SS| T |U \") JE>
20 25 |M10x1.0(MAC-1008-2) | 32 | @5.2thru, 9.5x5dp | @5.5thru, 9.5x5.5dp @12 | 25 | 120| M5x0.8 | 27 | 79| 62| 78 |M6%1.0x9dp E
25 22 [143 27| 9 ]
32 M14x1.5(MAC-1412-sN) | 50 | 6.9thru, 11x6.5dp | @6.9thru, @11x7dp 220 Rc1/8 100 | 118 | M8x1.25x15dp
50 45 1193 52 (121 o
=.
Tube |\ Code ]
e [\_Code. V1 V2 W [X1|X2|X3|X4|Y|Z]|2zz 3
20 25 M4x0.7x5dp | M5x0.8thru, @7.5x4.5dp(back side)| 8 [ 55| 22 (17 | 15| 3 [106| 166 =
25 . 123|213
32 M6x1.0x7dp | M6x1.0thru, 89.5x5.4dp(back side)| 10 [ 7.5 | 31 {24.5| 31| -
50 173 263

ﬂWMindman 4-71




MOCDB-03 220 stroke: 50~200 / 32 stroke: 75~200

DUAL-ROD SLIDE CYLINDER mindman
zZ
Q
SSs S
F P X3 X1
T 2-R
() D D —r7
g \\
O Q I\/IA < om ;2
4-v2 —
1 ,, @\ @ 1
LT LT g
2x2-N / HxH1 depth 4-V o2
2R 2-V1
— — =
o Bl
a|o o “ D;I>
o W
1
|._E1 L E2 | | o
| | 1
o KL .
|| | y
S D S
- T
&, O E T % Lr
(o]
SRS -
A
O\ : : 2-M
9 Q- :
2x2-G2 2x2-H3 4-N1
MCDB'03 Unit: mm
e\ | A|B| C|C1|C2| D|D1|D2| E |E1|E2| G |G1 G2 Hen| HA|H2| H3em | 1 | J M
20 [50~200| 73| 33 |27.5 11 451 29| 9 9195|200 6 | 62| 45 | M6x1.0%x12dp | @6 8 4 | 26x8dp | @6 | 14 | 9.5 M10x1.0MAC-1008-2)
32 [75~200| 113 | 55 [38.5(13.5( 7 40 (10.5] 12 (15 28 | 10 |105| 84 | M8x1.25x15dp| @8 | 12 6 |@8x12dp | @8 | 20 |14.5|M14x1.5MAC-1412-8N)
Tube |\_Sode. N N1 o| R R1 |T|U v V1 \'7} W | X1 [X2| X3 |X4|Y
20 |50~200|@5.2thru, 29.5%5dp | @5.5thru, 89.5%5.5dp | @12 | M5x0.8 | M4x0.7x5dp | 62| 78 |M6x1.0x9dp | M4x0.7x5dp | M5x0.8thru, 87.5%4.5dp(back side) | 8 | 5.5 |22 |17 | 15| 3
32 [75~200|e6.9thru, 911x6.5dp | 6.9thru, 11x7dp | 20| Rc1/8 | M6x1.0x7dp [100( 118 | M8x1.25x15dp | M6x1.0x7dp | M6x1.0thru, 89.5%5.4dp(back side) | 10 | 7.5 | 31 | 24.5| 31| -
220 232
Code Code
| F|L|P|Q|S|SS|Z |2z | F|L|P|Q|S|Ss|z|zz
50 34.5| 64| 35170 52 (104 (156 [193.5 75 38| 90| 70243 77 (146 (223 [277.5
75 34.5| 89| 60 | 220 77 (129|206 [243.5 100 38 | 115 95(293|102|171 (273 |327.5
100 |39.5(114 | 75 (270|102 | 154 [ 256 |293.5 125 38 (140 (120 | 343 (127 [196 [ 323 [377.5
125 |44.5(139| 90 | 320|127 |179 [ 306 |343.5 150 38 (165 [ 145 | 393 (152 (221 [373 [427.5
150 |57 (164 | 90 | 370|152 |204 | 356 |393.5 175 38 (190 [170 | 443 (177 |246 {423 |477.5
175 |69.5(189 | 90 | 420|177 | 229 [406 |443.5 200 38 (215195 | 493 (202 (271 (473 |527.5
200 |82 [214| 90 | 470|202 | 254 |456 |493.5
ﬂWMlndman 4-72



MCDJ series

DUAL-ROD CYLINDER

Table for standard stroke
Tube I.D. Stroke (mm) Max. stroke
26 10,20,30,40,50 50

210 10,20,30,40,50 50

e Stroke out of specification is also available.
o Please consult us if stroke out of specification.

e |t is possible to adjust length of basic stroke by 0~5 mm.

Order example

MCDJ—03 — 6 —50 — []

o T

TYPE OF STROKE
S BEARING
03: Slide bush
TUBE I.D.
Mounting
Top mounting Piping port

0
LA

Work can be mounted on three
faces of the rod square plate.

mindman

Features

e Compact in width and length with precision guidance.

e High lateral loads can be applied on both slide and linear
bearing unit.

e Magnetic as standard.

Specification

Model MCDJ
Acting type Double acting
Tube I.D.(mm) 6 10
Port size M3x0.5 M5x%0.8
Medium Air
Operating Max. 0.7 MPa
pressure range iy 0.15MPa | 0.1 MPa
Proof pressure 1 MPa
Ambient temperature -5~+60°C (No freezing)
Cushion With rubber cushion pad (both side)
Available speed range 50~500 mm/sec
Lubrication (if lubrication is use'él,%_tpﬁfi?u“ribﬁ?éj 0il NO1 1SO VG32)
Sensor switch (*) RDFE(V), RDGV

* RDFE(V), RDGYV, specification, please refer to page 8-19, 20.

Anti-roll accuracy

. Code 0 ! .
Type Fo—+—01—
MCDJ-03 £0.1° 1Y | j@\,‘\'e
Blank: Standard piping Installation of sensor switch

P: Axial piping

Bolt holder * Sensor switch
Ot holder RDFE

§ Sensor switch

RDFEV, RDGV

Bolt holder *

Side mounting
* Only for “P: axial piping”. Piping port

Work

ki

Mounting bolt (M3)

Plate
* Since the bolt holder is adjustable, the

,,,7 o EEE}*

AW mindman

o mounting bolt does not interfere with the
7757%’7 sensor switch no matter what direction it
is mounted from.
* Do not go beyond the body when
adjusting the bolt holder.
4-73

| JapuiAa 19edwon) | JapuIlka plepuelg ‘

1apuIa Uiy

[ep)
=,
o
59
o
—
=
o
)
=

9|qeL

‘1uewd!nb3me!|!xn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MCDJ-03 Inside structure & Parts list

DUAL-ROD CYLINDER

Standrad piping

mindman

28
OO
DI
28 24)20) 5 J18)( 6 )(23)( 1 (29)28)( 3 )21)17)( 8 )10
& © =T
~ X - - )
) gl | 5 iy o —— e a
> ] | Ty )
|
=A
doboboe oo
Material Order example of
Tube I.D. Standard piping Axial piping repair kits
No 6 10 — o
Part name Q'y |Repair kits (inclusion)| Q'y |Repair kits (inclusion) Piping | Tube Repair kit
1 | Body Aluminum alloy | 1 1 type I.D. epair kits
2 | Plate Aluminum alloy | 1 1 26 | PS-MCDJ-6
3 | Rod cover Aluminum alloy | 2 2 R I pe———
4 | End cover Aluminum alloy | 2 1
5 | End cover (Axial) | Aluminum alloy | — 1 Axial 26 | PS-MCDJ-6-P
6 |Piston Stainless steel | 2 2 210 | PS-MCDJ-10-P
7 | Piston rod #1 Stainless steel 1 1 | Lubricant (10g) | GR-A-010 |
8 | Piston rod #2 Stainless steel 1 1
9 | Rod cover washer | SUS — 2 2 Cylinder Weight
10 | Nut Carbon steel 1 1 Unit: g
11 | Piston Aluminum alloy | 1 1 Standard e
12 | Cushion screw Stainless steel 1 1 . piping Axial piping
13 | Bumper PU 1 1 Pt')‘,’;;g
14 | Screw Stainless steel 1 1
15 | Snap ring Spring steel 2 1
16 | Snap ring Spring steel 2 2 Tube |.D.
17 | Rod packing NBR 2 ° 2 ° FEy G LU CE R
18 | O-ring NBR 2 [ ] 2 ® 10 45 97 51 109
19 | O-ring NBR - ! L 20 | 54 | 111 | 61 | 124
20 | O-ring NBR - 1 [
21 | O-ring NBR 2 ° > ° 30 64 125 71 137
22 | Rod cushion NBR 2 ® 2 ® 40 74 | 139 | 80 | 152
23 | Piston packing NBR 2 [ 2 [ J 50 84 154 90 166
24 | Port cover Aluminum alloy | — 1 75 _ 188 | — | 201
25 | Magnet ring Magnet material | 1 1
26 | Steel ball Stainless steel - 2
27 | Screw Iron - 4
28 | Bolt Stainless steel 3
29 | O-ring NBR - 2 [ J
30 | Bolt holder Stainless steel 1 1

M mindman

4-74



MCDJ Dimensions 26, 210
DUAL-ROD CYLINDER mindman
ini L1 Z1+Stroke 4-V
Standrad piping | | g
3 T <
N i
Q Q
RA 2R |R8|
(Piping port)
B ZA+Stroke
D D1 J K S+Stroke
_ _E_| I, L Z+Stroke
5 |
' N N
< © T T P ’/é\’ @ o
=
T
\ \
<
© \m3.4 thru \ Bolt holder
2-M3x0.5 thru 26.5xN depth
(Opposite side)
2-95.7
Hexagonal side 3
— 1 @
N
i ;
T
M8x1.25 Adjustable bolt holder
AXIaI plplng < L1 Z1+Stroke 4-\/
P i ‘ ‘ -
o — ¥ :
OL e @ @
R o[£
— D €
ZZ+Stroke
B ZA+Stroke ZB
D D1 J K S+Stroke
E [ L Z+Stroke
_ | 2-W
O r —(M‘ % {Piping port)
Y o |
< o 9 9 I &) e} g 8
. n° o \ \t\
I g e 1 \
[2-M thru | © \63.4 thru | Bolt holder
2-M3x0.5 thru 26.5xN depth
(Opposite side)
TL:f:;d:D_ABCC1DD1EGGBHIJKLL1 M N (OA(P | PA |PB|QA|(QB R RA [RB
32|13.4|31|0.5(11(1.2|55|25| 16 |5.3|2.75|5.5|4.5| 12| 10 [M3x0.5(5 |@4 |0.3|31.4|12.8( 2.7 | 6.7 | M3x0.5%x3 dp | 20.5 |5.5
10 |42 |15 |40 |1 13|1 |[6.5(33| 20 8 (4 8 |3.5|16| 16 |M4x0.7 (55| 26 [0.3|41.4 (14.4| 3.5 (7.5 | M5x0.8x4 dp | 28.5 (8
Code
o S|T|U \" w Z |21|2ZA|ZB |2z
32 | 8 |6.7|M3x0.5%3.5dp| M3x0.5x3dp | 5 9 (42 |7 |49
10 [44.5| 8 |7.5[M3x0.5x4.5dp| M5x0.8x4dp | 8 | 12 | 56 | 8.5 |64.5
M mindman 4-75

| JapuiAa 19edwon) | JapuIka pIepuelg ‘

1apuIa Uiy

[«p]
=,
o
@
o
=
=
o
@
=

9|qeL

‘1uewdgnb3ﬂjemxn\1| Japuika Jaddoyg | JapuIka sSajpoy |




MEMO M

NOTE mindman

M mindman 4-76



	E04-01~38_Guide
	MCG*
	MCGA Stop / Lift
	MCGA Push type
	MCGS / MCGB Precautions
	MCGS ø6, ø10
	MCGS ø12~ø63
	MCGB
	MCGI
	MCGJ

	E04-39~76_Guide
	MGT*
	MCGD
	MCG3
	MCDA
	MCDB
	MCDJ




